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, Which of the following are the pillars of India’s Foreign Trade Policy 2023 ?
' A. Ease of doing business

C. Export promotion through collaboratlon
E. Incentive to remission

B. Emerging areas
D.  Import substitution

0

Choose the correct answer :
(1) A, B, C and E only
(3) A, D and E only

1808 B’ 28385 DEH a3 D0 2023_Sp

2 07

v L3 582

(2) A,B,C,DandE
(4) B,CandD only

7
£y
¥ 4,

"\7 7

o ey Pozren D 2
A QOO 580 Tohdso L} B. &)y SOOFN/| 0T
S DITB0 T 507 DbSHiesoe Doy BT S0 [HS55maho
_E 8T8 ¢65%080
NBR DSTETTR DOHESDL0 -

(1) A, B, C»O8ai E Sr(essdH -

(2) A,B,C,DH8a%m E
(3) A, D DB E S|

(4) B, C 8050 D Sr{esdh
In India, the Index of Industrial Production is constructed on :

(1) Quarterly basis i 3 ' (2) Yearly basis

(3) Weekly basis P " @) Monthly basis
TESTIOS, B TN0E &) 3rd) A STEOIP DB :

) | BIFDE BHOES %:*‘ @ 05 FAHOES

(B) &8 (DSIHAOES l' " (4) SOT8 (DRHOES

Which of the following is true in relation to N atlonal Renewal Fund (NRF) ?

(1) Its operation period was 5 years only.

(2) It was set up in 1996.

(3) It provides financial assistance to public and private sector employees.

(4) Financial assistance from NRF has been provided for the Voluntary Retirement Scheme
2SO0 HIESED A (NRF) & 5020809 808 T3S DA 2.5 ?

(1) & evsden (operation period) S*©0 5 05 YT e 855'@33)

2) &I 1996 &' Doryen T, ~2

3) 1020685 Sots HBA% |HawSen S0l &6‘5(‘0@)&&) & QB DS HTFONO @OANOA.

(4) 2S0DH YIRS DO 0B D HIFOTTDE D550 HSD DB HHEO EBKy ©OAT .
Which of the following statements related to: q)ne Nation One Ration Card’ is/are true ?

A. There is seamless access to rations across-India after its launch.

B. Central Government launched the SChenllfjm the year 2016.
Choose the correct answer :

(1) B only (2) Aonly p , (3) Neither AnorB  (4) Both A and B
28 B0 2.8 BAS 5% 02050 1808 IS’ IO / DD &y, ?

“BBAD B60D0DS ST ST Bodo DS BAS P EONS B IAwozw TS
FoBerD. QVHOLDN SOAF DT O,

B. S0 (202068 ¢0 &s DA ¢ 05‘ r80DoD0B.
QOB QTR D0DE DS~

(1) B Sz A ASTSTH @) A 58050 BBOST 59 (4) A 805 B Bodks

(=) &[=)
R | A

(2) Gl




llowing development finance institutions on the bagijg .
ﬁn %Ilrlllgﬁstt};fleafl‘oDevelogpment I%)ank of India (IDBI) of their year of establishment :
B. Industrial Investment Bank of India (IIBI) .
C. Industrial Credit and Investment Corporation of India (ICICT)
D. Industrial Finance Corporation of India (IFCI)
Choose the correct answer :
(1) C,B,A,D (2) D,AB,C 3) B,C,D,A 4) D,C,A B
L§o& @B B J0POD 89 FVOLDES DOJSIT°O STTEOM €% ok -
rEed OFTE @89Sy @ 2375050 (IDBI)
8¢ JrO(FE EP2& 22508y (11BI)
2r8es B|FE DEIS HBASD DEP2E 578 )02 (ICICI)
8 B TN DS 8 )BAS (IFCI)
«)6&5 QATPETTR)), DOTHT R : o
(1) C,B,A,D (2 D,AB,C =~ (3) B,CDA 4)
Match the following mega clusters with the: 'ié)lace of their location :
Mega Cluster : Location ¢

A. Jewellery cluster I. Bhlwandl ,1
B. Handloom cluster II. Chennai “-|

C. Leather cluster I11. Ludhiamaﬁi
D. Powerloom cluster IV. Mumbai -

V. Varanasi! |

o)

(Y OW >

D,C,A B

Choose the correct answer :

(1) A-I; B-V; C-1V; D-III (2) A-IV; B-V; C-II; D-I

(3) A-IIL; B-I; C-II; D-IV "7 (4) A-IV: B-IIL; C-V; D-I
1808 I ERED 57¢3Q DT=)EN TBAN (HTFOS 235DGH0A :

e Y6 (5&%0
A 238 EJ6 L daod
B. T3¢ 5006 I 3J)
C. BB (Sen) 506 1L  erdHasro
D. 36w EN0 V. Swozy ch

V. SO ed

DB DITETTR), DOTNTOW e
(1) A-L; B-V; C-IV; D-III e i;za A-IV; B-V; C-IL; D-I
(3) A-IIT; B-I; C-II; D-IV ' (4) A-IV; B-II; C-V; D-I

Which of the following statements are true 1n relation to Mlcro Small and Medium Enterprises
(MSMEs) in India ? iy

A. Udyam Portal was launched by the Central Government for registration of MSMEs.

B. Samadhaan Portal was launched by the Central Government for filing of grievances by MSMEs,

C. Central Government created a sub-portal within Samadhaan Portal for reporting the dues and
monthly payments to MSMEs.

D. With the help of Udyam Portal, in 202 1—-22 more than 60 lakh MSMEs registered.
Choose the correct answer :

(1) B and D only S (2) A,BandC only
(3) A, C and D only 1 4) A'andC only

ayééo%ocﬁ‘ A8 2, V) SGIE sDOAT DS éél}‘ DB Eved (MSMEs) 50220H0D 180d TS O
23 ?

&~ MSME © $35¢ 8% To(& (9250e8 50 &CSSSJ QS (Udyam Portal) & (r60D0D0A.
B, MSME en ¢ 22)0hedd (gnevances) 8O0H ToHeErdE sold (&S50 (\)SﬁJ‘w"S S &

(8000 0A.

C. MSME e JoTrd TOodSOVS E’m@"@) 200 MSME ©% TH0dS SOT8 Jnaresy,
DBOOGETDE DTS FES S 2.8 & FBS S ToS (92065 50 DT™yew FH0b.

D. ¢3S (Udyam) GS SIFOH0E, 2021-22 57065, 60 ©F © 0T %05 MSME €0 ¢k SR QY.

QBN NAFETTR), OTDT R :

(1) B &80 D Sr(ebed <27 A, B 0A5 C Sredd

(3) A, C B D Sr{ehad (4) A DB C Sr(ehad

R (3) SAID

'@ [
Ex



Match the following five year plans of India with their objectives/focus :

Five Year Plan Objective / Focus
A. Eleventh Plan I. Agriculture
B. Ninth Plan II. Faster and more inclusive growth
c. Fifth Plan III. Growth with social justice and equality
D. Second Plan IV. Rapid industrialisation

V. Removal of poverty

Choose the correct answer :
(1) A-II; B-III; C-V; D-IV

(2) A-V; B-IIL; C-I; D-IV N
(3) A-III; B-II; C-V; D-IV (i
(4) A-II; B-V; C-IV; D-III o
2rESTE DOV DT VIOD 3763 GTTO S/ FBoDS woTed 3SHSH0E ;
B0t33P (DT DK SP50/S)n D80S @050
A DOTORS DTV 1. S AH0o -
B. S2AS WS IL  S50S6BS 00 B 5096 $530
C. 2B (DT L a3 T°5a50, 0TS 508 Erdd S0
D. BO&S (DeTD¥ IV. &30S8 >OTWELSen
V. 0588 dEres
DB DSTETTR) DOTHTII
(1) A-II; B-IIL; C-V; D-IV e

(2) A-V; B-III; C-I; D-IV &)
(3) A-IIL; B-II; C-V; D-IV
(4) A-II; B-V; C-IV; D-III

Consider the following : = i
Assertion (A) :  The liberalisation of the Indian economy in 1991 unleashed competitive markets.

Reason (R) : Compulsory licensing for the productmn of certain security and strategic related
commodities was one of the salient features of 1991 Industrial Policy Resolution.

Choose the correct answer :
(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) (A) s false, but (R) is true. \:‘
(4) (A) is true, but (R) is false. . 3)
Bod sserad HBKEBOS0A :
PO (A): 278 esBE S350 1991 ° 3))(156:6 xoéﬁ’)éém & 50,5 0% OBV,
50 (R) - 215 SO0 rsFehE HowOOES ém@o &5 )B8 SH)VH0M BRS) BErd IO
1991 8|72 :)mS HT80S” 2.8 DS @o%o.
OB DR, DOTHEDSD : L I
@ (A) 58050 (R) Bodr 2.5, 5°Q (A) & (R) SO asésa S°CD.
(A) B (R) B 2,5 DB (A) &0 (R) DOTDS DSGED.
3) (A) &), 5D R) 2.
@) (A) 2.5, 5 (R) S,

R
E (4) B



10.

11.

12.

Which of the following statements are true in relation to NITI Aayog 9
A. It was set up in 2015. '

B. Prime Minister of India acts as the Chairman of NITI Aayog,

C. Tt serves as a think tank of the government.

D. NITI Aayog aims to foster co-operative socialism among the states,
Choose the correct answer :

(1) C and D only (2);-B and C only
(3) A,Band Conly ' (45:"‘~A and D only
58 TR Ho20H0D (808 55 I 2.5)) P
A B 2015 S Domyew Tach. 7 <]

B. 27r8& |05 SHoIS S esTBrhiso TS 65@5505"6@"&/
C. (02050 TWVEy DYENE DT O (think tank) T ﬁ)@ esa3rh OJ&)Sc\:oo&'/
D. TaFO SPS AT FQITTR), 20708050 OB esTrh a3, &Y.

IV DITFETTR), DONTAW : A
(1) C B D Sr(ebsd (2) B HOAW C Sr(edad
¥ A, B 0050 C S| 4) A B80S D ST

Which of the following statements are true in relation to five year plans of India ?
A. First Five Year Plan was launched in 1951.
B. First Five Year Plan was a successful plan.

C. The Third Five Year Plan was a total failure in reaching the targets laid down at the beginning
of the Plan.

D. Annual plans were implemented for the period:1965 — 1969.

Choose the correct answer : , 4

(1) A, C and D only (2)"=A and B only

(3) A, B and C only (4‘). /B and C only

2rEST3 DOVSIG (DT VLS Ho0H0D (§0d ngg@é‘ A 2 ?.

A D053 HOISE (DETDES 1951 &' (FE0DoT

B. Scdes H0tSS (DT 2.8 D9OE)S DS (e dE.)

C. SPES HOSIE (DT DE (80250 ATFODS OF IO B0 oM DHOOE.
D. 1965 — 1969 58 0% |Der EOD @eN HDEH0 20808,

DB DR, DOTVT DI : :
(1) A, C HBAW D Sr(e5d (2) A DB B Sr(¢had
(3) A, B HBAW C Sr(ebd (4), B B C S

1%
Which of the following statements is/are true in nelation to five year plans in India ?
A. For the period 1978-82, Rolling Plan was implemented.

B. The final draft of Flfth Five Year Plan was prepared by Prof K.N. Raj. \‘(‘fu
Choose the correct answer : ) s¢
(1) Bonly (2) A only (3) | Neither A nor B (4) Both A and B ?L |
TESTH0S" DS |HerDEerdd H020H0D (8o 143) SO’ DB/ 2.5) ? ; |
A 1978-82 s7erD& DB0HS @m‘@&ﬁ) SNV a)édéso 20h0&. o’

B. 0838 505858 He 9% By 085 1H& (final draft) D " 3.8, T°25 ¢5ASrdd TEC.
QOB DI JOTHEEEW :

(1) B & 2) ASrSD @) A OO BBOGr 55y (4) A DO B 8oy

(5) SN

DM



13.

14.

15.

Which of the following is not a priority of 2023-24 Union Budget ?
(1) Green growth (2) Inclusive development
(3) Export promotion (4) Infrastructure and investment

806 T3S IO 2023-24 oS TS By ([ E&S5e030 5% ?
(1) TS SH& SY (@) 329 e0)IHE

(3) peddes a0 : <;;3:: 4) STOF SHSeN SHOA DEPA
Match the following pillars of NITI Aayog vx 1th their relation :
Pillar name Relation S
A. Pro-people I.  Involvement of. Citizenry
B. Transparency II. Women in all afsppcts
C. Equality II. Opportunity for the youth
D. Participation v

. Fulfilling societa} and individual aspirations

V. Respensive government
Choose the correct answer :

(1) A-II; B-III; C-V; D-I

(2) A-IIT; B-V; C-I; D-IV .
(3) A-I; B-IV; C-III; D-II

(4) A-IV; B-V; C-III; D-I 6

1808 A& eTrh Qozre (pillars) & @ T8 '&)oeoo&oaéé‘ TE3S B3eh DS :

do¥o D Soa0g50 f\_j
A RPBO-000Ere L 200 6o
B. J8&E8eb II. Q) @0%‘0?5‘ &5)05“;50)
C. D8PS0 M. cnsss odsio
D. SSWdo IV, e 3506‘&[0 SHEE B0 e TEBS 0
V. @@:\)30&03 {D250es 50
QBN NATFTTR), DOTDE W :

(1) A-IT; B-III; C-V; D-I

(2) A-III; B-V; C-I; D-IV

(3) A-I; B-IV; C-III; D-II

(4) A-IV; B-V; C-III; D-I

Arrange the following deficits as % of GDP related to Union Budget 2022-23 (Budget estimates) in
descending order : 2N

A. Revenue deficit ©) B. Primary deficit

C. Fiscal deficit o D, Effective revenue deficit
Choose the correct answer : “

(1) A,C,D, B (] @ C,D,BA
(3)BACD iJ(4)CABD

2022-23 (S evoSTren) S0 FE GODTOR H00HOD e TITre)HBS® §od e (deficits)
TEQ), I8 1§50 @K)Jdagél) &

A B3Srs Sew B. oSS

C. &85 Sew (fiscal deficit) D. 3% BISTg Sen
OB DSTETER) DOTHEE -

(1) A,C,D,B 2 CDBA

(3) B,A,C,D 4) C,A,B,D

| cye
E’}l (6) Ci



16.

17.

18.

Arrange the following taxes in ascending order based on own tay

General States Average (2018-21 average) Tevenue composition of India
A. State goods and services tax (SGST) B. State excise

C. Sales tax D. Motor vehicle tax

Choose the correct answer :

(1) A,B,C,D (2 C,D,B,A . éS) 0D8,_A, B,ﬁc P @ DB G A
2rSESTE S T are DEED D0ed D) T (2018-21 OKen) S° & 1B0A % Xon on o
asgrdorr §od ;)(&ltgm c—s&‘&rev‘iééaoé‘ @358 oW : BO0 D80 aer (composition)
A TR SN VI D) (SGST) oo B R B)F

C. @250 d), | D. Jerd oFTare) NNV

QB QTPETRR), DOTHT DD : -

(1) A,B,C,D (2 C,D,B,A ./\"'} 3) D,A,B,C 4 D,B,C A

Which of the following statements are noftwt"rue in relation to Fiscal Responsibility and Budget
Management (FRBM) Act ? (n9)

A. The Act became effective from 57 July, 2004.

B. This Act was notified by the government in 2002.

C. This Act stipulated the elimination of revenue deficit by 2014.

D. As per this Act, with the beginning of financial year 2006-07, the annual reduction in fiscal
deficit must be at least 0-5%.

Choose the answer :

(1) B and D only (2) A B,CandD

(3) B, C and D only (4) A and C only

8% 23705565 DB DZFE A& 57 (FRBM) WETITRo00HON 8o TS DD D)) 5P ?

&2 50 278 5, 2004 DO @ (effective)€S's SDYOA.

& HETQ) 28¢5 (D205 50 2002 ' HEE30D0A (notified).

2014 SEB0 BIITS SN BEOT WrEe S10S” PI0TIE0 2OR0E.

& O |D5°E0, 2006-07 e08 DOSBIB0 (NE0Z0008, (55§ S (fiscal deficit) S QE PSS

SDINIBM™ DO 0-5% T &0, =i

NAFPETTR), DOTNETSW o

(1) B O8O0 D S(ehad {¥"(2) A, B, C 8050 D

(3) B, C 8050 D Sr|ehad (4) A DB C Sr|edad

Which of the following statements are true in relation to 15" Finance Commission ?

A. For horizontal devolution, income distance criterion was given more than 40% weightage.

B. For horizontal devolution, tax and fiscal efforts were given less than 3% weightage.

C. C.Rangarajan was the Chairman of this Commission.

D. The recommendations of this Commissioxiggre applicable from 2022 to 2028.

Choose the correct answer : :';i_?!

(1) A and B only “2(2) A, CandD only

(3) A,B,Cand D “'(4) B, CandD only

15 & e0¥ H0IrI§ Ho20HOW (§0b J‘S&m@@fj@a’) ) ?

A, D3r0HS D) D038 H020H0D, Q—BCS"/OS) A0 (Dedreard8 (income distance criterion) 40% %09,
DEYS (S50 (weightage) Red S0 20008

B. D308 H) HODEIF H02000D, HEY AW §F (HODTIOK 3% 0B S0 e 0
2N 50 26808. ’j_ '

C. . 80h02S & 0¥ HOMO L) TEIST Gar) 8.

D. & e0% HoM0 TI0E) DITEED 2022 OB 2028 SerDE SO ow.

Sawpy>

DB DITTTR), DOTHTLDSI :
(1) A SO B S 2) A, C S8 D S35
(3) A, B, C 8050 D (4) B,C 58050 D S35
(7) Ok



19.

20.

21.

22,

23.

Q o)

Which of the following statements is/are true in relation to crude death rate (CDR) of I

population ?

A. During 201419, the crude death rate was less than 7.

B. During 200611, the crude death rate was more than 7.

Choose the correct answer :

(1) B only (2) Aonly (3) Neither A nor B (4) Both AandB

ZrOSTE B2 T, S0 (crude) Sezme> Bew (CDR) & H020H0D (§06 TSDIOS’ DB/ 2,5) 7

A. 2014-19 DO5 S0SE Dezre> Bex 7 E0B SEFNT &0B.

B. 2006-11 S0C5§ Sne¥ Soderer Bew 7 08 &I 0B,

$BS DSTTRR) JOTHERLE - o/

M BSSD @) AdmsDH (3) A 000 BOOGT S (4) A SO B Body

Which of the following statements is/are correct/in relation to the infant and neonatal mortality rates

in India as per the National Family Health Survey (NFHS)—5 (2019-21) ?

A. Infant mortality rate (IMR) decrcased whén compared to National Family Health Survey
(NFHS) - 4 (2015-16),

B. Neonatal mortality rate (NNMR) decreased when compared to NFHS — 4 (2015-16).

Choose the correct answer : .

(1) B only (2) Aonly (3) Neither AnorB  (4) Both A and B

0% s&)é.noa)‘a-sﬁsrﬂs Q8§ (NFHS)-5 (2019-21) 155750 2% 08050 5352 3% 88770 BEE $020800)
808 TSSO’ DB/ HDSE/D ?

A 2SO $oeno2 esEis QB$ (NFHS) - 4 (2015-16) & & 305 3% 0eae> Bew (IMR) 5506,

B. 280D $0enow esSKs S8 (NFHS) - 4 (2015-16) & O3 SSered B HSeTe> Béw (NNMR)
S$0od.

QBN ATLTTTR), DOTDET D e _

(1) B (& 2) AJIPSD (3) A HBOMBBOGT S (4) A HOck B BT

Which of the following statements are true in rél‘a{‘.ion to India’s population ?

A. Sex ratio of population is expressed as numbf;gé_i? of females per 1000 males.

B. If sex ratio of population is more than thous:larxd, it is called unfavourable sex ratio.

C. The sex ratio of population in India in 2011 was less than 1000.

Choose the correct answer : A

(1) A and C only (2) Aand B only

(3) A,Band C = (4) B and Conly

1020800 1808 T sDIOS D 205)) ?

JZAJ? éﬁgﬁélaoo?so‘gfg Z)doé)ognLﬁré; (e Hopg SrHocs éaral‘ dod K):ugv@ gex ratio) Q SOAHEN.
B ey Oo AH)B Sows S0 HEIT GO, I WS8ro Dot NS ©0otr.
O7 2011 &° 235 STE azarer O0of DD )S 1000 S0 SK ™ G008,

., bl

ndia’s

PR
)

DB DT, DOTHTRDW : & s

e B 5 ooais 0 S

(3) A, B8as C (%) : _ oatos

In which of the following years was the National Population Policy annmtx;;:e 21000 ?
(3) 2020

(1) 2016 (2) 2014 ( ) )

PESTHoS 2rahH ey AR, S08 ¢3S Q"@oéégéoé‘ @écﬁoa‘dz 4?) -

(1) 2016 (2) 2014 :(3)1 2020

The total fertility rate (TFR) in India during 2015-16 as per the National Family Health Survey

(NFHS)-4 was nearly :

3 2 4) 22
M 19 2 16 (3) 25 : .
2809 Koenoe es&Hg HBS (NFHS) — 4 5560 2015-16 & 2SS0 Indo dowSS) 8 Bew (TFR
ooy - |
M 19 @ 16 @) 25 @) 22



24.

25.

26.

27.

What is thé term used in national income accoun
country’s Gross Domestic Product ?
(1) Net Domestic Product =
3) National Income at constant prices (4) Real Net Domest;c Prog

S0 Ging, o BIErS)BS Hob SHMHEO BRTFO™ 200 ey ;g

e | _ Aroraly wFos3orHes’

. g when i 1
d e I ( h"duct

(2) ll\Ie;t Nationg) Product

1) Q¥ TIH &) ‘ @) ‘?é,é A &yd
3) D6 ROEG) ES B emraO @) TR Bhah wasyn

i i i in relation t
Xf;::r}:e:f:? the following statements is/are true ition to the concepts of personal and disposable
A. ’11;11:; v(izgrlllsalll.mptlon expenditure + savings of an individual is equa] t, imieile et o
B. If the personal taxes are added to disposable income of an individual, we get personal income.
Choose the correct answer :

(1) B only "~ (2) Aonly (3) I}I_g.ithcr AnorB  (4) BothAandB

35815 B S5AT BEFOH PSSO 2020600 §00 TS DA/ i) ?

A 28 558 Tk, DT S50H0 + 0 @ H58 T8EDATY BSEATE darso.

B. 35888 D000 2.8 558 By $50irg esmrasrdS @%i?“r"g DK S35 3TN0 SN0,

DB DT, DOTNT I : l
(1) B ST 2) A SIS 3) 1‘3.-"@605)3 B 04> 5%y (4) A HBAS» B Bodkr
L
Who were the chairman and members of the National Income Committee set up in 1949 by the
Government of India ? ¥

(1) P.C. Mahalanobis as the chairman and D.R. Gadgil and V.K.R.V. Rao as the members.

(2) V.K.R.V. Rao as the chairman and P.C. Mahalanobis and D.R. Gadgil as the members.

(3) Dadabhai Naoroji as the chairman and V.K.R.V. Rao and P.C. Mahalanobis as the members.
(4) D.R. Gadgil as the chairman and Dadabhai Naoroji and P.C. Mahalanobis as the members.
1049 ¢° 256 DD 50 DTN TS 2B esTra ED0es Ty, TOS SO HD IS 7

1) BES I 22, HFOSDDH HBAM D05 B.esB. PFBS 00 DO, TS

@) TS ™ DBEB.D. T8 S0 HFogeNMT B3, FOSDD SO 6. TGS

® TS ™ Eeron TTE Boa Siserr HIeED o5 Hocw b HIFOTR

4) BEIS ™ A.e38. MGS HOK DN TrTreron (3"%‘25 258050 . SHTOSDR.

Which of the following is not a component of total defndnd for domestic income/output ?
(1) Investment spending by business firms [_1‘
(2) Consumption spending by households o,

(¥

(3) Net borrowings from other countries

(4) Government purchases of goods and services
808 e3S° DO BI0H e3craDho/e S 1B Tng), Bndo FIaH ASTOB & 25
(1) TS S0P DEPDE 53000 )

(2) S\)é.»oaro DAT3FH S550H0

(3) adS Tae OB JDEG 220ET°eN

(4) D205 50 TBNEY S5:NsYEN DOAEN e Fedyffelh

i 57D ?

[&¢
A
DR

(9)



28'

29.

30.

As per the second advance estimate of national income 2022-23 released by the Ministry of
GStatistics and Programme Implementation of India, arrange the following years in ascending order
pased on the share of agriculture and allied sectors in gross value added (at current prices) in each

year:

A. 2020-21 B. 2021-22 C. 2022-23

Choose the correct answer : .

(1) B,C, A 2 C,AB 7 (3 ACB (4) C,B,A

235 DS § HETOE HOA NPT @55003 S0 DS TP DO TS BB SWOLKY 2 AreEch
0BT, 2022-23 (H5°80, 806 H0SSITD e DenS HO0HS” S5 A HBAW R0 Sore
T (VS SEOST) BErSOmT (808 HOSSITOD B (EH0S” e8I :

A. 2020-21 B. 202122 1 . C. 2022-28
3B DSPETETR) JOLHE DI L .
(1) B,C,A @ CAB .. 3 ACB 4 C,B,A

"Arrange the following states in descending order based on per capita net state domestic product of

these states (in rupees at current prices 2011-12 series) in the year 2020-21 :

A. Maharashtra B. Gujarat C. Telangana D. Andhra Pradesh
Choose the correct answer : ,
(1) C,A,B,D (2) A,B,D,C - (3) C,B,A,D (4) B,D,A,C

806 TEre® 2020-21 & @ OO SOHB DG T3 BITTS)S (Erarcheos’ WO (DS SEeS
2011-12 (3£5) SEE0MT @ITTET 5500 9080 )85 :

A DIT (R : B. ®zo e C. SBoors . D. eol® LZ)S%’
DB DIPEFTRQ), DOTHT DI A ,

€1
(1) C,A,B,D 2)~ .A;B;D,C : 1 @3 C,B,AD (4 B,D,AC

Which of the following statements are trie in relation to national income in India ?
A. The first official estimates of nati Ig'al income were prepared by the Ministry of Statistics,
(9]

Programme Implementation. h
B. The first official estimates of national_income were prepared with base year 1948-49 at constant

- prices.
C. The estimates of national income published in 1956 were known as the conventional series.

D. National income under the title conventional series was published till 1976.

Choose the correct answer : '

(1) B and C only =2 (2 A/BandConly

(3) A, C and D only (1 (4 AandDonly

ESTS 2rROSrErasT8 HoDOHOD Lgoéfé’gmsoé‘ DD 2] ?

A. Tnd) Tndde3 erS0SrEra @OTTOD Ker08, HHSE 95060 O § TP SATE TS,

B. 308 Sncsed e0O508 2 airTrod 0BT O 1948-49 BGTE DO JB0S SASTL TF.

C. 1956 &° |H0B0DS 2SO OD @Ozﬁ&‘@cﬁ) H0T0% (363 (conventional series) e9Q DV CD.
D. Sodmrah (36 Do 2rBArerasr) 19765 $058100 S65 (HiOoLeo 2006,

OB VST, DOTHT DS : :

(1) B H8asn C Sreledad (2) A, B 805 C Sr(ehsd
3) A, C X805 D S 4) A DON D Sr(ehed
ONG)

(10) [O8




31.

32.

33.

[r]

(2) Band C only ¢
Ja?éoﬁrwob’c‘bé 502208 only ©< (3) Cand D only

i the Indi
Which of the following is nof the primary goal of the Indian G,

. . 2

Policy, which has been fixed at an 1nc.cnt1:evfr\;3}o-w I
(1) To enable the poor to buy foodgrains a s ,Sect
(2) To induce more investment by t}?e farmf:r e o
(3) To enhance production, thereby increasing it e}_l |
(4) To motivate farmers to adopt improved cxzp ;éé F e(; g?logles,
1808 T8S O | T8 Fons AGOWODD 2 985 9% Socsdy e ot o

oal) 57D ? : I
3§§égé§)>&é S50 S Hsen eI c,ra‘soé: §°c§:>bﬁ;cn = _?gi@ Srcieso,
@) S5SOH B0k EFoen DT AT oﬁﬁf &Z}m (8060,
(3) &SIV OO, ST So° FZHO STrOiTR) DO o )
(4) DEDS Do eres B roSBESD §Q§>w§c‘3’ DO (B,

Match the following List-I with List-IT: oy

®rnmepyp .
§ Mlmnmm Support Price

List-I List-II |

A. Gross National Product I. Net Domestic Product at market prices 4 Depreciation
at market prices \ ; .

B. Net National Product at II. Gross Dox’ne‘stlc Product at market Prices — Depreciation
market prices ol

C. Gross Domestic Product III. Net National Product at factor cost + Indirect taxes — Subsidies
at market prices

IV. Net National Product at market prices + Depreciation
Choose the correct answer :

(1) A-IV; BIIL; G-I (2) AILG B G-I (3) AL BT, CIV
808 ORI S @070 OP-IT S @oTed BSHSHI :
O S oS
A TS G0OS e TSI 1 “&rdyS Sdoc JES BITrsIS + Shhde
B. 5B Q6o Q8 280rd)8 I “&rdyeS ddos e BITrs 1D - $&HHde
C. Ir0peS Q8 re BITrs B 111 (&SI 5850 DB Byars &G rAWres ) + HEE

(4) A-II; B-IV; C-III

{'\ H e - D Ydew
IV. S350°82,65 S8 DES 2rBTre ) + dthse
DB DT R), DOTHEDIW : "

(1) A-IV; B-III; C-I (2) AL BY; CII (3) A-I; B-II: C-IV (4) AL B-IV; C-lII

Which of the following statements is/are true in relation to national income ? _
A. National income calculated with a base year is known as national income at constant prices.

B. National income estimated at current prices is not inclusive of price changes.
C. Dur.mg war period, national income ig estimated at future prices also.
D. National income divided by t

Otal 0 ul b e . . 'Ome-
Choose the correct answer : Population gives personal inc

{1
(1) Aonl = A and D only
e 4 A

00‘6 §O& o « .
A B076 5038 3508 moser ar e SRSOSTDEAD 2.8 7

B. 0D s8¢ eosme IS
inclusive).

C. G s006 wrdctire o33
oS w bt O3
D we‘édwmo&rc‘bl o a@al BIXSE S0 S wonsT ST

< = VoTA)

OO DIPTTR) 0S80 .wg TR S58ties (358 escroo 97

(1) ASres3 ' 4 @ ADBOD D Sma,
W B0 C Sy () ¢ s00aw DI

=5



34.

35.

36,

(%]

Which of the following statements are true in connection with the production of crops in Ing;
2021-22 (Fourth Advance Estimates) ?

A. Telangana was the third largest producer of cotton in India in 20? 1722.
B. Uttar Pradesh was the largest producer of total foodgrains in India in 2021-22.
C. Telangana was the largest producer of maize in India in 2021-22.

D. Madhya Pradesh was the second largest producer of wheat in India in 2021-22.
Choose the correct answer :

(1) C and D only
(2) A, B and D only
(3) A,B,Cand D
(4) A, B and C only

2021-22 (F"RS SO e90tITen
DB ?

ain

P

) & wééﬁ%oeﬁﬁf%omo )88 HooHOD 1808 TgPses A7

s

A 2021-22 S rES$THoS 5O @SB’ Berorre c.:@go Q"CEs @& DY G )BT S0R0A.
B. 2021-22 & 23 3B¥0eS estsies D50 &3 )BS GBS (HNTT 08 DY &S IBTET G008,
C. 2021-22 & erES$B50 Besorre ®©& DS mé&eﬁ"él &SSO 0RO,

D. 2021-22 & g8 8BS0 Fesresh G586 A0eSs L;’af@f? B0 8D & 1B T S0AR0D.
N8 QSR DOTDE S - £

(1) CHBaw D Sr(ehsh
(2) A, B DBA5 D Sr(¢s
(3) A, B, C 08050 D

4) A, B 805 C Sr(e5shH o

As per the final estimates of production of major crops during 2022

—23 in India, arrange the
following crops in descending order based on estimated production of the

given crops :

A. Pulses B. a-;’g)ilseeds

C. Maize D. _:,m!Coarse cereals
Choose the correct answer : . _ x

(1) C,B,A, D v (2) :.y;b, C,A,B

(3) B,D,C, A (4);/D, B, C, A

rESTIoS” 2022-23 eS‘ DS D0 Ees e TInE) SO oI e D580,

1808 Doererss 98 Hoe
OIE), 55 1B eI @SB (50 e85 :

A D) IOV B. &S Hozen

C. JnHEsyen D. . a0 Sy sen
VTS DIFETR), DOTHE M : N

() C,B,A,D 2),.;D,C,A,B

@) B,D,C, A 4) .D,B,C,A

4

In India, the total foodgrains production (in lakh metric tonnes) in 2023-24 (second advance
estimates) in kharif season was estimated at about':’ ’

(1) 1586 2)' 1481
(3) 1508 (4), /1542

TESTIOS 2023-24 (BOGBS SHOSKD BOUVTeN) PED D230 OTIT FOHDAN Tho e AR NIIS
LA (©F ¢35 €3e0)0") AT :
(1) 1586

(2) 1481

®) 1508 (4) 1542
B9
(12) B



37.

38.

39.

atsifare true With reBard 0 diggg o
tric enabled digital service for Pensiop in Ingig o

Which of the following stat'emc
A. Jeevan Pramaan is a biome

(~ P
hoose the correct answer : 1 e
(01)0; only @ Aonly “83) s lgler(A "B @) Both A ang g
2r53T308° ABLS =, 558 0020500 808 5D B/ 2,3y 32 n

V. =5, !
A E35DES ©TO DIS THON SJCSQE{%&S@)L&% 36 %y
B, A8&S 20805 HES)2019 5} @"505300{:_‘-
JBN DT DOTHTRDD © -

o
(1) BIrEH @ AsnEd P ADODBBGrsy ) 4 5605 5 50

Which of the following statements are true in re?lation to the industrial policy resolutions in India ?
A. In India, the First Industrial Policy Resolution was announced in 1948, '

B. In 1948 Industrial Policy Resolution, it was stated that arms ang ammunition, atomic encrgy
and railway transport would be the monopoly of the Central Governme

nt.
C. Another industrial policy resolution was announced in 1956.
D. In the Second Industrial Policy Resolution, all industries have been classified under five

categories. - ’“:“‘
Choose the correct answer : @?
(1) A, B and C only “(2) B, C andD only
(3) A and D only <(#) A, BandD only

rESTI0S” BT WE DTS BT 0020800 1808 T sOS” D 2:) ?
A rESTHOCS, IGE3 JOFTWE Do éo'ga'fﬁl 1948 §' D830 .

B. eaingren HBAN HoHo, @i HOGN DES S S0l (eSS DEFSS0m Goeradd
1948 T8 D> A0S TH)e0 20808.

C. 208 rOEWE DTS BT 1956 ¢° 1HEE305¢0 26A00.

D. B0t FOTWE Do 80506 HOFHO) 0638 2 eShsrentT 880 .
OB SITTETRY JOTHEFDS -

(1) A, B 000 C Sr(ebahH

(2) B, C 8050 D Sr(@
3) A AWelon\N) D :D‘Léab

@) A, B &80 D (@D

Which of the followin : W
) g statements N : the
Economy Survey 2021 — 99 , is/are correct with regard to

A. Majori £ ) (\j) '
2019 _3’0.0 the Gross Domestic Product{(GDP) was contr:buted by
B. Hotels ang touris <

C. Defence and pub)j k> erviceé‘ sector.
Choose the correct a

services sector in India as per

the services sector in

(1) B ik d B onl

'asé;:)glfa ? Aonly °€3 dC @ 2 a:5‘ ;3;/?3; DB ?

A 2019 “)2 5;?21 ~ 22 19560 gr 8 m ot m‘ | B“an 0600 180 ans@&o& o

B x:s‘eae;a?ﬁ)e WO BI85 (Gppy 05\32,52) ai:rrfiﬁ)o?oﬁé oS ©080%%

C % A HO"56380 Zygey Soocst °ome

o © Sofioss” 8% 2 55805, 9256 ¢ 2 &8 griio

SO NPT DOTHE S8y S O 230 sy

(D) B Smes ) ASOAW B IMSZ

E (3) A, B ;,5)5 @3‘@
GRY



40.

41.

42.

Arrange the following crops in ascending order based on the minimum support prices (in ¥ per
quintal) of these crops for kharif marketing season 2023-24 :

A. Jowar — hybrid B. Paddy-common C. Maize D. Ragi
Choose the correct answer :
(1) C,D, B, A (2) D,B,C,A 3) C,B,AD 4) B,C,A,D

2023-24 DED 50ye300 w0 E5HD éo@éo cSéo (Eohos” 19 §sotrend) egrdor (S0
DOOOD BTTET 50065 €08 1M : :

A T -DE B. 38 -0 6, JKHES) D. o%Hew
QB ASTETTR), DOTHEDHD :
(1) C,D,B,A (2 D,B,C,A {_(S)CBAD 4) B,C,AD

Which of the following statements is/are true in relation to agriculture labour in India (as per the

Annual Periodic Labour Force Survey Report, 2021-22 and also broad industry division based on
National Industrial Classification — 2008) ?

A. Percentage of male workers in agnculture sector was less than the percentage of female
agriculture workers.

B. Around 70% of total agriculture workers were female.

Choose the correct answer : :

(1) B only (2) Aonly (3) Neither A nor B (4) Both A and B

Q8 @30 5708 3§ DT ATOE 2021-22 SO 20D FBFWE SOEGe — 2008 D SETEHRS DR
DB FDe D253 (DSE0, 2rESTIOS’ 55 °0% S°Gg§ $88 5020500 (80O a',ggogoeS‘ DO/ 8Dy, ?

A S550H B0K0S” HBA 56500 TS0 aﬁsom"  S5SAD 5782500 350 0T ¥y ST S0,

B. QO3S 70% S§Sradd 502850en (workers) 55)05"@5&)

AB N QTR DOTNT D :

(1) B 353D (2) A SHESD ). (3) A DO B DOy 5°%)  (4) A HBAS) B Bodky
Which of the following statements are true in relatlon to irrigation schemes in India ?

A. With an aim to enhance physical access of water on farms and expand cultivable area under
assured irrigation, the Central Government launched Pradhan Mantri Krishi Sinchayee Yojana
scheme (PMKSY).

B. Har Khet Ko Pani is a major component of PMKSY.

C. Surface Minor Irrigation scheme is a sub-component of Har Khet Ko Pani.

D. PMKSY was launched by the Central Government during 2013-14.

Choose the correct answer : | .

(1) A, C and D only - #(2) CandDonly

(3) A, B and C only i(4) BandD only

2rESTI0S HE3 FESO PO H0220H0N (808 TS’ D 2.5 ?

A S350 ZBrSnerdd ai"@éon' %0y 02N God JHOM LIl OO D BSDAS D3
S 8o th ARG DJBOT oggoé‘ 1D 0@ Ey Voo Trad (PMKSY) HHSR)
Bol (52505 50 (FE0DOV0A.

B. 5ETSE D IO PMKSY & 2.8 (D5 a,mo

C. &DHBe8e D) V3 T GO, 6 PBeS §‘ 2 HE¥o ° 2.8 & aro.

D. 2013-14 ¢5° o (2205 50 PMKSY Q (2§02 000d.

DB DAFEFR) DOTHE : |
(1) A, C 8050 D Sr(ehad (2) C B0 D Srehsd
(3) A, B 58050 C S (4) B B0 D SresH

(=]
&
=

(14)

@_




43.

44.

45.

In the national income accounting concepts, any excess of tax revenue over government spending is
called :

(1) Public deficit (2) Public goods
(3) Public expenditure (4)  Public saving
TS T 030N TSSO, (HDS S S50HO LoD @HZOM™ &) B THAD IHD HeVIE ?
(1) (Do Sew @) DT SKHen }
(3) (02055 S509H0 -(4) D25 ey
Match the following demographic indicators of Indxa with their rates :
Demographic indicator Rate " .
A. Infant Mortality Rate in 2020 1. 237
B. Birth Rate in 2020 II. 60
C. Death Rate in 2020 III. 280 |
IV. 195 .
Choose the correct answer :
(1) A-IV; B-II; C-1 (2) A-II; B-I; C-III
(3) A-III; B-IV; C-II (4) A-III; B-I; C-II
1808 2r8STF 2T 2TIERS A ¢3 TS 23T :
ET2TVES ) ' Jév
A 2020 S 2% e Ben I 237
B. 2020 &5’ 257 Bew I 60
C. 2020 S Sdere> Bew oL 280
V. 195 .
DB SSFPETETR), OTHEDS : »
(1) A-IV; B-IL; C-I @ AL BI; C-III
(3) A-IIL; B-IV; C-II {4 AL BL CI
As per 2011 population census, match the follo[yﬁng states with their respective population :
Name of the State Population'(in lakhs) (approximately)
A. Nagaland I. 30
B. Arunachal Pradesh II. 11
C. Mizoram III. 20
D. Meghalaya V. 14
Choose the correct answer :
(1) A-IV; B-III; C-I; D-II (2)  A-II; B-I; C-IV; D-III
(3) A-I; B-II; C-III; DIV “4) AL B-IV; CII; DI
2011 BT BE)e (D5°G0, (808 T a7¢3 aaycg‘ 235DB0 )0 :
ovsi0 DD 22 (O ) (DLredrr)
A. arerod I 30
B. e@®rdS (085 I 11 3
C. ET L 20 -
D. Harecd V. 14
$BS DEFTTR, DODE T : *
(1) A-IV; B-III; C-I; D-II (2) A-II; B-I; C-1V; D-III
(3) A-L; B-II; C-III; D-IV (4) A-III; B-1V; C-II; D-I
(15) L)




46.

47.

48.

Which of the following schemes are implemented in India to reduce population growth ?

A. Accredited Social Health Activist (ASHA) scheme
B. Scheme for provision of Pregnancy Testing Kits

C. Mission Parivar Vikas
D. Clinical Outreach Teams (COT) scheme

Choose the correct answer : ‘1 )
(1) B and D only @ A and C only

(3) A,B,Cand D (4 A,CandD only
2rESTIOS By DHIHGOD SHOWEIS 08 HETOS” D elen Babagrow ?
A 5003 F0BS FSrBE ety SEEE HEF0 (;Aé{HA H5%0)

B. #8)H8E 8¢5e domyew HG¥0 L)

C. AS HOTE ISR g
D. 8% TedS 3oy (COT) HG¥o
DB DIAFPTTR) DOTHFDAW

(1) B SHOAK D Sr(ehad

3) A,B,CH0a™D

Arrange the following states in descending order based on their population in 2011 (as per Census
2011): C‘M

2) A B0 C 3753
4) A, C 8050 D S

A. Bihar B. Tamil Nadu ) C. Maharashtra
D. Uttar Pradesh E. Karnataka o

Choose the correct answer : \:J

(1) D,B,C, A, E /2) A,B,D,C,E

(3) D, C, A, B, E 4. E,C,D,B,A

20‘131&5‘ ;;oﬁr o 2arer (2011 23T Eéz,g!}j@s'éo) 8o (08 T (aFed eS8 Edoes
& J : (2=

A D56 B. S¥ch C. Lo (R
D. &8 |1H5% E. ¥gre

QR QRATETRV), DOTHE DS :

(1) D,B,C, A E (20 A,B,D,C,E

(3) D,C,A B,E (4) E,C,D,B,A
The rate of natural populati i s
) f pulation growth in India b i ini '
despite an increase in absolute number of popﬁigti:: ob\?v?ggs’::édlly R ot e

(1) The falling of birth rate was slower than death rate

(2) The falling of birth rate was faster than ¢ .

(3) The .mcrease of birth rate and death rate wa{é?almost same

(4) The increase of birth rate was faster than déﬁth rat .
lea e.

2T 0SS’ DONHE sy
5907 81539 50006, ochts o sy L0 908 FOSTHOS' i 5 DB B

(1) Déere Bew 0T TBMT 257> By &5

(2) Ddere> Bew €0 SKorr 2ITO Beéy éﬁdﬂdo.

@) zSTe Bew, HSeres oy oo 2.8 X)csnon"o'

4) Do Bew 808 SKorp BIT© By 2—)66;2055@0-

eath rate.

(16) B



49. Which of the following statements is/are true in relation to the agriculture sector in India ?
A. For 2022-23, the Central Government fixed the agricultural sector credit target at around ¥ 185
lakh crore.

B. Central Government launched income support scheme for farmers through Pradhan Mantri
Kisan Samman Nidhi in 2021.

C. Pradhan Mantri Fasal Bima Yojana (PMFBY) was launched by the Central Government to
address the problems of high premium rates of insurance for agricultural workers.

D. In 2023-24 Union Budget, around ¥ 2 lakh crore was allocated to the agriculture sector.

Choose the correct answer :

(1) Aonly (2) A and B only

(3) C and D only (4) B and D only

2T OSTH H55 D SO HOOHON (808 T 55O’ DB/ 2,89 ?

A, 2022-23 HONSITRS e, S0l Laaﬁ)égo Q03 18'5 ©F @ §¢) SraraDerd S350 S0t HBH

& 50 AZoWOD0A. 3
B. 2021 & (DS 0| SRS DS A 0‘50‘* TO( (D20 S0 S5SNI ETFO s DG
ExyeerAleAle]AN <

C. SsSAH 0O DIFE HODOHOD IERST &) 1HWAHO BEY H0H5 62280378 Foles
192965 50 (DETE0(E HIS Dl Tresed {PMFBY) DA, (B0DOV0H.
D. 2023-24 0[S 2BE S, 03 T 2 ©F© s‘em) S50 BOTAE EeronoT .

QBN AIFTTR), DOTDS RV :
(1) A ST (2) A HOOSW B Sr{edad
(3) C 0BASW D S| ebadd (4) B OO D &Sr(edad

50. Which of the following statements related to agncultural marketing in India are true ?
A. Electronic-National Agricultural Marketmg (e-NAM) was launched in 2016.

B. A Central sector scheme named ‘Formatlon and Promotion of 10,000 Farmer Producer
Organizations’ was launched in 2023. .

C. To address the issue of transportation bf iagricultural produce of farmers, Government of India
launched Kisan Rath Mobile App.

D. Through the Agriculture Infrastructure F Fund the Central Government is providing medium term
loans only, for post-harvest market mﬁ‘aﬁfg;‘—ucture

a0
I.N“l

Choose the correct answer : e
(1) B and C only (2) A and B only
(3) A and C only (4) A, CandD only

2rESBIOS” S50 577833050 H00HON (80O 5w D 2.5)) ?
A, OFIE - FASS @980 5383 ¢30R (e-NAM) & 2016 & |rS0doc .
B, 'TTRAS @08 (IS e 10,000 S8 FERIE esdTEASY ©F Soled (9SS HPsR) 2023 °
BrEodoT . (=)
C. SSTADTHOH HDODOHODS égéir'cﬁ;s GBIRND ST DIIOD DBILB0ErDE, 2res
(020¢8 50 8IS 85 INBS AT Lir’doi)oao&

D. 50& &r8)& (harvest) 5o s @éﬁcoéxnaiag By SFOE IV TEH, Tl (DZDBL0 S5 A%
FOE S B T 3T° D5 OY amsfa"e)éo S5 oBNOB.

QOB DIFETTR), DOTDTESW : £t
(1) B 0805w C Sr(edad ¢ (2) A OO B Sr(had
(3) A HBAW C (b 4) A, CBOM D S

& ﬁ‘@
D‘Mh

(17)
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\ 52,

Consider the following Assertion (A) and Reason (R) in relation to Telangana’s Overall
Performance — Composite Index Score (as per Healthy States, Progressive India, Health Index
Round-IV, 2019-20, prepared by the NITI Aayog ) :

Assertion (A) : By 2019-20, Telangana had improved its rank among l_arg?r states in relation to
overall performance Composite Index Score compared with its overall performance

Composite Index Score in 2018-19.
Reason (R): In 2019-20, the overall performance
around 70.
hoose the correct answer : .
8) Both (A) and (R) are true, but (R) is not the correct explgnatlon of (A).
(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) (A) is false, but (R) is true.
(4) (A) is true, but (R) is false.
SO TR0 IS0 HQ B - ¥
(R) 1627000 (D8 esTrh Srerodods, edibodd
i AL eS‘o‘(‘O o DN MFD D 6 ) I8

D50 (A): 2019-20 T°¢38, BOred 2018-19 © ¢ 0| |
@ IS0 DB DFSD D %?,6@ H020800 DY olaresS &S orgoSad

TEOBEDBE0E. : .
50 (R):  2019-20 &S, 8©0ITEd T°( QO 3»{.{*-0,3{‘036) F0 D Qe edrdd 70.

DB HITETRR), DONE TOSW : h. |

(1) (A) OO (R) BOKT 2,5, 5% (A) 50 (R) SO DO 5°C.
(2) (A) O (R) BOT 2u0)) LB (A) 50 (R) K)O@é DSB€D.
(3) (A) €)), 5°Q (R) 2,2 &2

4) (A) 2)), 5° (R) ).

Composite Index Score of Telangana was

3 AFOE DenSE S020H0DS (808 (GIDESE (A) SO TS
&S O areD, DB orEe, esdiis Ard T'o& - 1V,

Match the following health indicators with the value of each indicator in 2019-20 in relation to
Telangana (as per Healthy States, Progressive India, Report on the Ranks of States and Union
Territories, Health Index Round-IV, 2019-20, prepared by the NITI Aayog) : ’

Indicator Indicator Value
A. Neonatal Mortality Rate (NMR) I. -»:96-3
B. Under-Five Mortality Rate (USMR) II. f:'i’63-0
C. Maternal Mortality Rate (MMR) I11.~47.4
D. Institutional deliveries (%) IV 130-0
V.[ 7190
Choose the correct answer : pe
(1) A-V; B-IV; C-II; D-I (2) A-I; B-1V; C-II; D-III
(3) A-V; B-III; C-I; D-II (4) A-IV; B-III; C-V; D-I

@oomspsnséoaao@oa 808 e85 ArDEOD, 2019-20 ¢° (HB HrDE DendS SIS (D earhH
SArD TS eOMHoSDS TTFen - HETXH or6S, oraren HOCH Tol FOS (oo
NOROBODS T30 NS DBGY, ebiis &rd T°0& - 1V, 2019-20 (95°80) :

ey O DS Devas

A Sed 39 SHdere Bew (NMR) &) L 963

B 2% S08¢ yorer Sothin) §0T 3%y SOBIS’ e Bew (USMR) - T1. 630

C. O3 m8erer Bew MMR) o I 474
DSOS @aren () J V. 300
e 0 V. 190
0 vy 2,006 oty
® AV, B, ob D (2) A-L B-IV; C-II; D-II

I CI 1.
o (4) A-IV; B-1II; C-V; D-I

(18) Uit



53.

54.

55.

56.

In which of the following Telangana districts was the Crop Diversification Index Value more in
2021-22 (as per Telangana Socio Economic Outlook — 2023) ?

(1) Wanaparthy (2) Vikarabad , (3) Suryapet (4) Peddapalli

& 808 8o BT, 2021-22 & 9 awes‘ DOE VA0 IrD eSS DHEIT G0 (BOME
a3l &% SoDS0 - 2023 (HSB0) ?

(1) S328 2) Jsoerd (3) :(15*0*5?065 @) DD

In which of the following districts was the total area cultivated under paddy crop in Telangana in
2021-22 the highest ?

(1) Suryapet (2) LYadadn Bhuvanagiri
(3) Karimnagar (4) leamabad

& 800 BTrod, 2021-22 & Sworsns $6 Hoe @6(5 &) Bwdo D IAGo & BTS e@dsorr
God? 1

1) droges ©) {gﬁyw@ aﬁaééﬁé
3) $Bosub @) ‘Drsrerd

Which of the following statements is/are true in relation to the agriculture and allied sectors in

Telangana (Telangana Economy, Government of Telangana, Provisional Estimates 2023) ?

A. Between 2021-22 and 2022-23, the agriculture and allied sectors achieved more than fifteen
percent year-on-year growth rate in their gross state value added (at current prices).

B. The gross state value added (at current pnces) growth rate of agriculture and allied sectors was
around 18% in 2021-22.

Choose the correct answer : :
(1) B only (2) Aonly (3) Nelther A nor B (4) Both Aand B

SOOTRS SISO HOON OO BOreR cooaqoaoi) 1B0d T30S DO/ 2)) (Bore
A5, BOOMTE (D208 50, BTy OF eodaren, 2023 LQ)S"éo) ?

A. 2021-22 N80 2022-23 DG, 5D 28050 clacma)ocﬁ Borren 2578} D0X T8, ke TR
e HA0HES® (DN BEOS) HETFD TS0 E0T DES SHB FGoTrow.

B. 2021-22 & 555709 0805 980208 Sorre Ird TR Dend HB0K (HXVS SEOe) 3O Ben
0TS 18% T €00, oS

DB DIFETRQ) DOTHTFRDS : 2
(B one @ ASHED (3) A B BBOEr Sy (4) A SO B Bock

Which of the following statements is/are correct with regard to the Rythu Bima scheme that was

introduced in 2018 by the Telangana Government ?

A. The age group of farmers eligible to enrol under the scheme is 21 years and above.

B. The insured amount is ¥ 5 lakhs.

C. The scheme is applicable to the farmers who have.up to 10 acres of agricultural land.

Choose the correct answer :

(1) A and C only (2) A Band C

(3) A and B only (4) Bionly

2018 &’ Be0men (D200 (HBFES Do HIr HPSVE K020HOD §08 g5’ DB/ ) ?

A. & 5650 808 ST SHErE e0des, S3SrANETHRS HADDY 21 DOSSIT°eN HOAD @0 ¥ty
228 Gomd. I }

B. Dr 3wdo T 5 ofew.

C. 10 %070 HBEY 590D N ¥R &) égéﬁ)‘o‘i)wd)oé\) &3 DRE0 S8 0.
OB DIFEFTR), DODE TASV :

-

(1) A B0 C S7(edad (2) A, B OO C
(8) A B B Sv(ébad (4) B Sr(edad
IONID
e e
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59,

Which of the following statements related to area under different crops as percentage of gross sown
area (in Vanakalam 2021-22) in Telangana (as per Telangana Socio Economic Outlook—2023) are
true ?

A. The area under paddy was more than 40%.

B. The area under cotton was more than 30%.

C. The area under maize was more than 8%.

D. The area under soyabean was less than 3%.

Choose the correct answer :

(1) B and C only 38 (2) A, CandD only

(3) A,B,Cand D @ (4) A,BandD only )
(BOOMm Fras ed8 SnPASO0 — 2023 {H5°80) Seoomreads (2021-22 a‘a‘yoqu‘) roor DedTren
B3 RGOS DS Hobrer 180 &) Do TERE S0 808 FEWIOS” DD 2 ?

36 H0e (80& &) DNFO 40% S0 HF0YIT GOO.

58 506 1808 &) DAFO 30% LoD Fop S 508,

T0EED) D0k (808 &) DRFO 8% FOL DEST OO

. FOsr %0y D0 808 &Sy DRFO3% L0 ST &OB.

DB DIFETIR), DOVE TR o

(1) B 00050 C Sr(ehad © (@ A, C 830 D S
(3) A, B, C O™ D  (4) A/BXOAW D S

Dowp

Which of the following statements is/are true in relation to Rythu Bandhu scheme in Telangana ?

A. Rythu Bandhu (Investment Support) scheme was launched in the year 2019.
B. Under this scheme, initially an amount of ¥ 12,000 per acre, per year was given to owners of

lands. =
Choose the correct answer : -
(1) B only (2) Aonly ¥  (3) Neither AnorB (4) Both Aand B

BOorRS’ B 20 HESIE H00SONE0S g seres DE/DD 2.5 ?

A. B 208D (DEPA HGe) HPE0 zm&ﬁobégéoé‘ BrSE0DOBDA0B.

B. & D50 (808, 1803506 Z5raD oiza’jm‘moé\n DS JET°H, (DB D0oSBIB0 T 12,000 R 5E0
28804. ,

DB ST, DOTHEDS : L:J .

(1) B3r&D (2) AJFSD :‘-:3; (3) A DHOASH BBOEF 5% (4) A SHOAS B Bodss

As per the All India Report on Agricultural Census 2015-16, which of the following statements are
true in relation to irrigated area in 2015-16 in Telangana ?

A. The gross irrigated area was around 19-59 lakh hectares.

B. The gross unirrigated area was more than the gross irrigated area.

C. The net irrigated area was more than 75% of the gross irrigated area.

D. The net irrigated area was more than the gross unirrigated area.

Choose the correct answer : -y
g; 2, B and C only © (2) B, C andD only
, Cand D only i (4) B and D only

2015- ' ¥ LY

. %5 ;06 SESTAD BHOK H00HODI - 8S B0AAE JIHY (O5°60, 2015-16 ' Beomnd” AMd
> DTS 020800 180d 530S’ A &%) ? "

5 'O M DVFo S 19-59 e e TFbenrr ¢od.

> ;%;" g;w DHS B dyPo, e R HIDAGO E0E DKoy ST 0B,

s @;: gggo, et VGO’ T5% S0y oS S0B.

it W20, oo FHeS B Dy

S03 SSrerany ol =5/ QNP0 K0Ty &0y ST GOA.

(D) A, B 5805 C dmeszh

(3) A, C 8% D S s (2) B, C 00050 D &r(ehad

(4) BB D Sr(ehad

F10
£5

(20)
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61.

62.

Consider the following Assertion (A) and Reason (R) : .
Outlook — 2023) : : (as per Telangana Socio Economic

Assertion (A) : The total growth rate of gross state value added of agriculture sector in Telangana
(at current prices) in 2022-23 (provisional advance estimate) was 16 percent.

Reason (R):  The total growth rate of gross state value added of agriculture sector in Telangana
(at current prices) in 2021-22 (provisional estimate) was more than 9 percent.

Choose the correct answer :

(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).
(3) (A) is false, but (R) is true.

(4) (A) is true, but (R) is false.

(B0 Fare3s e SIS0 - 2023 H5°50), (8OO BDEBD (A) S8 S8R, (R) DBHJotHSW

SIS (A): 2022-23 (5708 00BN BOST) S Beroree Hisdah Soto T e Tl
DN D0 T0E), (Ve HBHS’) T $9B Bew 16 TS0 Gob.

2021-22 S (587, OF ©0oST SO0 SiSrab 060 TBoE), e TR end HO0DH

TR0, (DS SBOES’) IGO0 SO Bew 9 TS0 L0 KRS &OB.

$BN DIFTTR), DOLHTES : R

(1) (A) B0 (R) BOAT 2,59, S (A) § (R) 58S Ddea .

(2) (A) B (R) BOGT 2,2 HOC (A) Ko (R) HOBS D36,

3) (A) $3), S (R) 25). L oF

@) (4)2:3) 5 (R) ). e

LS

Arrange the following years in ascending order based on the contribution of agriculture sector (as

percentage) to gross state value added (GSVA) of Telangana at current prices in each of the given
years, as per Telangana Socio Economic Outlook — 2023 :

500 (R):

A. 2019-20 (Second Revised Estimate) B. 2020-21 (First Revised Estimate)

C. 2021-22 (Provisional Estimate) D. 2022-23 (Provisional Advance Estimate)
Choose the correct answer :

(1) A,D,C,B (2) B,C,D,A 3) ABC,D 4 ACB,D

SOOI IS @08 S0 (S0 — 2023 (DS, (806 J0SS TS DN SO Beormre Qre TR

Dend DHBOZY (GSVA) &' S350 B0H0 TET(FS0S") SETEOm (808 HOSSITOD ST (S0
0% ) : *’

w 8

A. 201920 (BO&S HHBODS GOTI) B, 2020-21 (R3E DSB0DS @0IT)

C. 2021-22 (&) OF @0 “iD.  2022-23 (&3 OF SN0 SOWR)
DB DSTETRTR)), DODE DM s

(1) A,D,C,B (2 B,C,D,A ‘(3 A,B,C,D 4) A,C,B,D

Which of the following pairs related to size class of land holdings (acres) and the percentage of each
size class of land holding in total land holdings in Telangana in 2015-16 (as per the data provided in
Telangana State Statistical Abstract — 2022), are correctly matched ?

A. Marginal holdings : Around 69% -

B. Small holdings : Around 24%
C. Medium holdings : Around 7%
D. Large holdings : Less than 1%

Choose the correct pairs :
(1) A, B and D only

(2) A, BandConly
(3) B and D only

r . (4) Cand D only
@oorrn T D FEVES 05§ — 2022 Siadbd dTodo 1H5°80) 2015-16 & Seoreest
ErENTO SOHS (DETOS’) HOK e

30 Zrspmed’ (K8 FrEHS0 SE68 TS $020800
18ob 2&eS’ D HOM 2aTFovardron ? | Le oS

A &IOS ENTED  : IFS 69% o3
B. D) Sdeen  : nsrd 24% <]
C. DABE0 Edveren : DrSrSs 7%
D. 2 ESveren D 1% 50T ¥y L
DB BB DODE TS : [

(1) A, B 50050 D Sz

i
042 A, B B C Sriehad
(3) B 0B0%0 D Sre(ebadd

(@) C B D S

(21) FaE

DR



63.

Which of the following statements is/are true in relation to Information T(:_;chnology / Information
Technology Enabled Services (IT/ITES) initiatives-of Telangana Governmeqt s dgerand
A. Through the growth in dispersion (GRID) pohcy,_thfa government provides Spem&b 1(;1ccn 1ves to
the companies that expand or set up their units within the w?stem part of quera. ad. o
B. The Government of Telangana released its second Informatl-on and Communication Technology
(ICT) Policy in 2021 to provide various incentives to I'T/ITES industry.
se the correct answer :

8};01(; sntll; (2) A only (3) Neither AnorB  (4) BothAandB

SOOmR TR (D2Deds0 A0, K)oﬁrtgsé OTBES / DS oSBEh es5rded S (IT/ITES)

SEFTTOR D0DOHON (808 &S’ DE/DD 20y ? X e

A S)0 D (dispersior%) D80 (GRID policy) crsor, AT 53 rosod’ Q0T B
QTIED TR DOPOI (D2 50 (DB3E |PFer)aTsren @oBNOB.

B. Qrerd RrOSBES/DSrord rotais emds IO HBFNH DY (e )irsen @od0terds
BOOTE (HZDS 0 TOBS JSrTE O FXrEAZAS F0TBES (ICT) D) 2021 S Desdcses
3?\)0&. \:;

R0 ATETR), DOTHT DA : i

(1) B ;&r@ﬁo i (2) AJrSdD 3). A BN BBOST Sy (4) A OSSN B Boky

Which of the following statements are true in relation to tourism circuits in Telangana ?

A. Bogatha Waterfalls are a part of tribal c1rcu18t*< _

B. Akka Mahadevi Caves are a part of heritage circuit.

C. Somasila Reservoir is a part of eco-tourism circuit.

D. Mallur is a part of green tourism circuit.

Choose the correct answer :

(1) B, C and D only (2) A and D only

(3) A,B,Cand D ’ (4) Aand Conly

SOOTRS’ HT°568 (HBT (circuits) H020BODS 808 5508’ DD ) ?

A 50S BOITO A0S HTIO (circuit) &° 2.8 2o, :

B. %) DETD Diren OIS 5 DTH0 (cireuit) &° 2.€ artio,

C. FDIO 2erIADN0 HO5SGE- DT 5% (BF0S (¢ireuit) 2.8 230,

D. B 3r8eh Homserd (ITFO (cireuit) ¢ 2,8 >0

OB AT, D0DE Tk - h,,?

(1) B, C 50050 D S @) A X805 D Sr(essh

(3) A,B,C 805w D @ A DA C Sr{essH

Which of the following statements is/are true injrelation to the share (%
state value added (GSVA) of Telangana (as pe ‘
Government of Telangana) ?

A. The share of seconda . o
: ry sector in GSVA : .
2022-23 (provisional estimatos) of Telangana was less thag 20% (at current prices) in

) of secondary sector in gross
{;}fplangana Economy, Provisional Estimates — 2023,

(1) B only (2) A only
(@cfogm 308 555, T8 0%
Ol e (GSV o

o A) H80HS’ &8

A 2022-23 & (@

B [ v, VA 4

: S a0 (e e )2 325?:‘20?089 gy e o7 Jenss B0 BBaH SoKo

© 202122 & (Zyyese3 B0 eo :

CO09) & 85805 Sotfo ren 2(?12_31‘% ?’0"’"‘“ Tigo Gy Ao T1R Deds a0k (589e

(3) Neither A nor B (4) Both A and B
gm ~ 2023, Beorre (9265 50 (05°80) Berorren T (Ho TwE) Are>
Soto (Tngg, TET (%) 50 H0D0HOD (808 TS’ DA /DD

LY iy
\_44/

.

} eSi B380% Sotio arey S0B S50 woa OMred 073 TB0EY WO DeaS D0 (D0 5B
9 BAFErR), 0TS, BN
(1) B3 @ A s, |

I

o (3 A 5605 BOOAT 5 (4) A 50k B Bock:

i

I A~



66.

67.

68.

Arrange the following schemes implemented by the Telangang Government in chronological order as
per their launching months and years : :

A. Dharani Portal

B. Telangana Fiber Grid

C. TS-bPASS

D. Mahatma Jyotiba Phule Telangana Backward Clasges Welfare Residential Educational
Institutions Society ,

E. Women Entrepreneurs Hub

Choose the correct answer :

(1) D,E,AC,B (2) B,D,E,C,A 3)..:C,B,D,E, A (4) D,B,E,A,C
BoOTE (NEHS0 BHD TV 806 DO TE (FE0HODS Ferew, .HOSSIT® (HSE0
5SSO @e0E)od ®)

A Q83 8¢S o

B. 8oo0rre b (A& ]
C. SID-DJD (TS-bPASS)

D
E

. IS SRy IS OO IHEDAES ééﬁé}éboé& BRBIOHS dg Hode e

. Y GALDTHE TS D
DB NPTV, DONE TDASNXW : o
(DDEACB (2) BDECA (3)“'CBDEA (4) DBEAC

Which of the following statements are true in relation to power sector in Telangana in 2021-22 (as
per Telangana Socio Economic Outlook — 2023) ?

A. The installed capacity of power in Telangana was around eighteen thousand megawatt (MW).

B. In the total installed capacity of power, the thermal energy share was more than 50%.

C. The nuclear energy installed capacity accounts for about 1% of total installed capacity of power.

D. The per capita availability of power was more than three thousand kilowatt hours (kWh).
Choose the correct answer :

(1) A;B and C only (2)‘3 AandD only

(3) A,B,CandD (4)©B, C and D only

2021-22 H0HSIS0S’ Berorred IS 0TS (ooare&oﬁ) 1808 a5’ DY 2 (BOOMT STy
e08 A0 - 2023 (DSB0) ?

A. BOrRS NS T 0PSO ST o@‘&) & Jo DS (MW) God.

B. 3050 A0S b 0TS0, BEIS DS FER50% L0 DELIT S0,

C. B0 g Fraeh Y3065, EDIESS (nucedr energy) ¢ 0PSO T ST 1% GOR.
D. SO0 DX0SS €255 S SO §S'aES K0ere (kWh) §0T 50y &GOS,

DB DIFLTRR), DODE TOSW : 5
(1) A, B 8050 C S(edad (2) A DBAN D S(ehsd
(3) A,B,C 8% D (4) B, C B0 D S3(edadd

Arrange the following in chronological order based on year of launching/setting up of these
schemes/academies in Telangana :

A. Amma Vodi Scheme

B. Scheme for Adolescent Girls

C. Tholi Mettu / First Step Scheme p

D. Telangana Academy for Skill and Knowledge ('{A,SK)

Choose the correct answer :

(1) B,A,C,D : (2) D,B,A,C (3)BDAC (4) AD,CB

Soorads' (2o DEBSe>/€05°CH N (°E0250/0" Y E}{(oé Q05 80 SEorT 3R SO|E ST SO
(NN VRN

C
A, @ 2.8 Hdko )
B. F3r8 83" e erdBe 85 Hedvgo {j
C. SO ep/Rnrcse3 enthordy HAEO o

D. S50 85w a0 FEE Beromren eoses Dy (TASK)
QBN QTR DODE A0 -

(1) B,A,C,D (2) D,B,A,C (3) B,D,A,C 4) A,D,C,B

(23)

&

ORdO)



69.

70.

71.

of Telangana state in 2014-15 wag arounq (
ag

. . 1 o - B a d Ct)
The total principal + interest burden (within budg Department, Government of Telangana) .

per Telangana State Finances — White Paper, Finance
(1) ¥ 4 thousand crores (2) ¥ 13 thousand crores

(3) T 10 thousand crores
2014-15 & BOOMD Tl IS0 eden + 5G 80 RFO SHO) TTRY (BOOTD TR Dgrey s
J|50, DS D20, O (DS 50 (HSBO) s

1) 74 3o 5w @

4) TT7 thousand crores

z 13 S0 SV
Q-

3) =10 Se> §e ot @ TTIOSR

Which of the following is/are correct with; ‘;‘egard to Telangana’s industry and service sectors iy

2022-23 Provisional Estimates (as per Telangana Economy, Government of Telangana, Provisiong

Estimates, 2023) ? (] 0y

Assertion (A) : Industry and service secto'n_rs? in Telangana together accounted for around 8¢g of
gross state value added (at édrrent prices). _

Reason (R): Manufacturing (a sub-sector of industry) alone accounted for more than 10% of gross
state value added (at current prices) in Telangana.

Choose the correct answer : ; .

(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) (A) is false, but (R) is true. | i

(4) (A) s true, but (R) is false. A

(BOOTE ISR, BOOMED (D8%0e8 50, 2023 @e)O¥ OVT'® (D5°80), 2022-23 &) O¥ wodToS

BOOME HBFHO SHOAN VT FOTFO HOROHON (808 T3S B/ 2.3 ?

(OIS (A): Borre o> TR Jend aspéoxg)é‘ (DS BSOS ST 80% DOIFS HOKM Dy
S0mre & s0° SDNOA. ‘;;; ,

500 (R): SO0 e T/l Qe &g’so@ (DN BBOS’) &' 10% K0T B0 2.8), S$Aird
$010 (DBFS T, GHB0MQ) HOT SDYOs.

DB AXTETO0 DOTHTDSD 1

(1) (A) HBAW (R) BOLr 2,53, S (A) 50 (R) DOTS DSBED S°C.

(2) (A) DB (R) DO 2,0)) sDOAIM (A) 50 (R) DOT0eS DedSe.

(3) (A) €)), 5°Q (R) 2ua)).

(4) (A) 23, 5°Q (R) &)).-

As per Telangana Socio Economic Outlogk-2023, Telangana’s own tax revenue as a percentagt
(2018-21 average) of its gross state domestic'product (GSDP) was :

(1) Less than one-tenth of GSDP
(2) One-fourth of GSDP o

(3) One-fifth of GSDP R

(4) More than one-third of GSDP Y . 3
Soome Fdra2s eQf Snp DS0- 2023 (HFE6, Beomn Gre oD FIH GBS (GSDP) e
D) T0& TS0 (2018-21 Hife) : o3 .
(1) o o BIoH & )BS’ 1710 &S S0k 6%, %0,
2) o oD BIH &SIDS’ 1/4 & S0

3) o o7 TR0H & IBS 1/5 9 S0k

(4) T oD BIH &e)BS” 1/3 S Soeh €0ty D502, o8

e}

(24)




72.

73.

74.

ich of the followi t i i . .
;Z};czoio_li ?o owing statements are true in relation to marginal holdings in Telangana for the
A. In Adilabad district, marginal holdings accounted for around 50 i

. St % of total

B. The proportion of marginal holdings in total holdings in Medak d(;sotri:t 1320;52?1%15(.1 60%
C. With respect to more than half of the districts (excludin Hyvyd inal i

constituted more than 50% of total holdings. B e a1y e marginal holdings
D. For Telangana as a whole, marginal holdings accounted for m
Choose the correct answer :
(1) B and C only (2) A, CandD only
(3) A,B,Cand D » (4) AandD only
2010-11 SOLBITS T BOOMTEIS' &0 EHTOX H020808) (& D 2a

: 08 T35S’ DD 2D ?

A 80Tl 2T, IS0 EDTOS S0 ESozren QS 50% n"L &a‘;oiﬁ.s -
B. GE 2YS, IS0 EHTOS' G0 EHTE @00 S0 XSS 60% I Sob,

C. Mo SO K0S BT H020HED (FETLE WIFWOD) IEo Lhmos' aos LHeey
50% 0T QH0L S &) ow. O G

D. So0mre IS0 DS, IS0 She oS’ darod SXeren 60% 0 JsoyIT STy o,
DB DSFETITR), JOJE AW : &

e

ore than 60% of total holdings.

(1) BSBO% C Sr($$3h (@ A C 005 D ST

(3) A, B,C 80 D “d @ A8 D S

Arrange the following in ascending ordéf_?based on the area under use as percentage of total
geographical area of Telangana in 2013-14 B

A. Forest land .+ B. Land put to non-agricultural uses

C. Barren and uncultivable land ¢~ D. Current fallow land

Choose the correct answer :

(1) C,A,B,D (2) A,B,C,D (3) C,B,D,A (4) B,A,D,C

2013-14 & Be0rre By IS0 FTTHYE IVGoS (808 T &ITrHo (oS &) VPO TS0
SEEOMT BT (500" 90805

A, @& FT o B, S8 r0DhesS GHTrred (808 &) 2D

C. 20238 SO0 SISADH TrHg0 A ZT D, (DS Ded 257

DB DITTTR), JODE TS : &

(1) C,A,B,D (2 A,B,C,D “~ (3 C,BDA (4) B,A,D,C

Which of the following statements are trlie}in relation to the structural composition of gross state

domestic product (GSDP) (at constant px‘fi__des) of Telangana prior to its formation as Telangana

state ? 1

A. In the year 2000-01, the share of agric:ﬁ_flt'ure sector was less than 20 percent of GSDP.

B. In the year 2008-09, the share of agriculture in GSDP was less than 15%.

C. In 2003-04, the share of industrial sector in GSDP was more than 25%.

D. During 2002-03 to 2009-10, the services sector share in GSDP was more than 50%.

Choose the correct answer :

(1) B, C and D only (2) CandD only

(3) A and C only .2 (4) AandD only .

BOOTE T(ROMT ©ISBOHErIE SV, B0 TwEy e Tl BT (R o)

Q0528 558 )%0 50220800 (808 T35S’ D 2.5)) ?
2000-01 HOISIE0S', {res T3 BITrSIAS B 5:57r0h Soffo e 20 TS0 L0V S8, ST &0s.
2008-09 50853506, re> o) BITrIBS® Ss9rah Sotio e 15 TS0 K0 KOS &0A.

. 2003-04 038350, Jre> T7| ) FITWrS B r6(7°E Botio TET 25 TS0 E0B A0S GOR.
2002-03 <0G 2009-10 5*©OC, red eyg} B9TBres )RS VT Soffo ae> 50 TS0 S0Td DEuy S

vowp

GOA. -
DB DIFTERY, DODE T - b
(1) B, C 50050 D Sr(esh (@ €005 D IS
(3) A B C Iy (4) A $o805 D Sr&D

(25) [ORta)

e e e



75.

76.

Consider the following Assertion (A) and Reason (R) :

y R i is ai iding irrigation facilities to the
tion (A) : Giri Vikasam scheme in Telangana is aimed at providing . ’
AR fallow and uncultivable agricultural lands of small and marginal scheduled tribe
farmers.

Reason (R):  Giri Poshana scheme in Telangana is aimed at addressing the needs of scheduled
tribe farmers for sustainable agricultural development.

Choose the correct answer :

(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A).
(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) (A) is false, but (R) is true.

(4) (A) is true, but (R) is false. -2

808 59 DEBE (A) SHBAW SBE), (R) HOKBOTHS 22y

Sis
599550 (4): Boorans &P SHet TosS DB) HOAD Garod IsSJohordde Dk HOA
0 THH VA0 TR SST0H Aoy FHAE EE50 ¥ j0TWohE GFRoDST Hd
D50 DEHEo.

S0 (R):  SBoomes e Sio% BTodS ég?ﬁﬁ“oﬁ) TPEO VG X530 @D SHA e950T° %
BE)Er8 SBI0DIT AB A HGEO. |

$BS DIFETRY, DOTREL0 e

(1) (A) B (R) BOET 2.3, 5 (A) & (R) HOTS D83 S°E0.

2) (A) OO0 (R) BOKT 2,59 98050 (A) %0 (R) SOTS DeSSe9.

(3) (A) &), 5°Q R) ).

(4) (A) ) 5 (R) ).

w63

Match the following sectors/departments with proﬁésed expenditure to these sectors/departments in
vote on account budget for the financial year 2024-25 of Telangana state (as per Telangana state
vote on account budget for the financial year 2024-25) :

Name of the Sector/Department Proﬁpged Expenditure (in ¥ crores)
A. Information technology I. 40,080
B. Industries II. | 19,746
C. Agriculture 111.5’174
D -

. Panchayat raj and rural development IV.:2,5643
Choose the correct answer :
(1) A-IV; B-I; C-II; D-III (2) A-III; B-IV; C-I; D-II
(3) A-I; B-II; C-III; D-IV (4) A-III; B-IV:; C-II: D-I
$od Sored/derrod Boorn TR 48 eaS SKyeto aa’éeS ’2024-25 808 N0 808

- s Yoo @
éon‘o§\>/§)a;:n°o§\) B (DBIOS H50H0S BSIGDHAD (2024-25 €30 DORSITRE H00HODI
B0 o7 4.6 8 TS 2FE (Hs°E0) :

solto/deriio Heo (SSTBeS Ssaho (8% craraderes)

DI Foiases I 9.0

A. 40,080
B. 50U IL 19,746
C. S58Rr0H0 L 774"
D. J0oTradHeE 075 HBa%0 UTDETDIHD IV, 2"54!3
OB AITFTETR). DOTHETLE : L

'

1) AIV; BI CJL.
Esi Aiv’BB L CIL; D111 (2) AL B-IV; C-I; D-TI
-I; B-IL; C-IIT; D.Iv (4) AL B-IV; CIL; DI

@ &

v
Py

(26) @



77. Which of the following statements are not true in relation to tax to Gross State Domestic

78.

79.

Product (GSDP) ratio (% and 2018-21 average) in Telangana, as per Telangana Socio Economic
Outlook — 2023 ?

A. Sales tax revenue to GSDP ratio was more than 3%,

B. State excise revenue to GSDP ratio was less tbg\n 2%.

C. Motor vehicle tax revenue to GSDP ratio was rﬁ@re than 4%,

D. State goods and services tax (SGST) revenue t’b”'"GSDP ratio was more than 6%.

Choose the answer :- A
(1) B and D only (2)_:‘:; A, B and C only
(3) B, C and D only (4)-. A, C and D only

Boorsn Jra¥ a8 Swpd(o - 2023 PSSO, ,\78] OreeS H)% SHOAL Jre TR T )
(GSDP) Q)8 (% 0805w 2018-21 Hiféx) § H020806 318080 arspsosS D 2. 57 ?

A OIED H6) TAS o o3 BT HBE &5 A0S 3% §0T oS,

B. O Q5)& UG8 o 07 BT ) B8 0655 AN 2% S0 80,5,

C. Srerdd TTTO HD) TAE Yo T BT B8 ¢55 DI 4% E0T &Y.
D. 7R S VI J0) TARE Yre> o7 TITWreh ) B8 0¢85 DD 6% Lo RIS
DITETTR). DODE TSV : '

(1) B OB D Sr(edad (2) A, B OO C Sr(ebad

(3) B, C 005 D S5 | (452 A, C 8050 D Smessh

Which of the following state taxes is not subsuméﬁi}in goods and services tax (GST) ?
(1) Service tax , (2).;State value added tax |
(3) Taxes on advertisements (4~)<l Luxury tax

1808 TR D) OSTIN SN I D) &S (GST)%’&)Z.")Q&)E?&J (not subsumed) ?

(1) DS D) (2% Ol e A0 D)

(3) (DFLIOR D) (4)= Qe (luxury) Dad)

Which of the following statements are true in relation to public expenditure in Telangana (2018-21
average) as per Telangana Socio Economic Outlook — 2023 ?

A. Development expenditure was 88% of total expenditure.

B. Non-development expenditure was around 22% of total expenditure.

C. Per capita development expenditure was less than thirty thousand crore rupees.

D. The revenue expenditure was more than 80% of total expenditure.

Choose the correct answer : o
(1) A and B only (2)2)B, C and D only
(3) A,B,Cand D (4)%C and D only

Soorn FArss ©fs PGB0 -2028 (HFE, BoornS (PSS ST (2018-21 Hifew)
020600 808 asPsS’ DY 2. ? O

A. 300 S50H0S" @SYG S50H0 88% 1T &0A. r -]
B. 30%0 I5090S" @DI9FeS $50%0 rardy 22%.T% &O8.

C. S0 @DHHP H5000 Swp) Fe> I mqﬁaé’goﬁ $%0y ST OO,
D. J0&0 S5aH0S’ BI&rs 55090 80% Koty QB0 GOO.

OB SIFETTR) J0DE TS -

(1) A 005w B Sress (2 B,C 560 D SIS

ar

(27) SR



80.

81.

82.

n to the composition of expen diture.
In

relatio ana for 2024-25 2 ;

Which of the following statements is/are true in deet of Telang
Telangana for 202425 as per the vote on account buds \h Crore rupees.
A. The estimated revenue expenditure is more than two 2 d crore rupees.
B. The estimated capital expenditure is less than thirty thousan

Choose the correct answer :
(1) B only =2 (2) Aonly

(3) Neither A nor B 1) (4) BothA and B

2024-25 BOOTE 485 ©S eTolS 2FES HSE0, 2
D020H0N 808 oS DB/AD 8Dy, 7

A ©OST B0 TIrg H5000 Both G §& Srarahe 0T NS,

B. 03w Sahnds Srocs $5aho sph So §& drrape S0 S80S,

HBS SITETTRY, DO : o

(1) B Sr(&H @) AJPSD

(3) A $80% B Bodr 5239 (4) A SBAN B B0&>

Which of the following statements is/are true in relation to Mahalakshmi scheme in Telangana ?
A. This scheme was launched by the Telangana Government in January 2024.

B. Women can travel in all state-run buses at free of cost.

Choose the correct answer :
(1) B only

(2) A only

(3) Neither A nor B . i

(4) Both A and B

BOmrRsS’ NI HATIE H020H09D) §o§5 5“5&,)30@5‘ DB/ ) ?
A & DGOSR BOOTE (D20 50 2930 2024 &' 180NN,

B. @) (D20 2006 SSrden eczi)éo%f [Xsoﬁrmo TOHSY,.
QB DTV DOTDTM

(1) B &S¢0

(2) A S5

(3) A DHOBASH B BO&yr 5769

(4) A 8a%» B Bodsr

()

o
W
.‘\t‘)

nd
Government ? @) ith regard to the Aasara Pension Scheme of Telan#®

(1) With effect from July 2023, the amountwas enha .
’ la nced to ¥ : '
(2) It was introduced in 2014 in Karimnagar fistrict 4,016 for disabled persons

(3) Toddy tappers were paid @ T 3,016 from 2020-91
(4) The amount was enhanced in 2020-21 tg-

% 2,516 for beedi w

- k

SOOITE (DD § e3HT” VRS DHSA. K)oaobé 01806 s3es: « orkers.
(¢ 3

(1) 28 2028 H0G DHS INTQ), D¥erorhessy = 401
(2) & DPs) 8603566 BereS 201465 @ 60Domrs

(3) 2020-21 00& Senfieh 576250081 ¥ 3,016 1Ty
(4) 2020-21 & IS ZnE) DA 58008 2 o

B Fss D& 2
6 50 oo,

I BDogey,
Y

(28)

024-25 § HOVOLHOD SoorasS Bdye Sy,

83.

84.

85.

86.



83.

84.

85.

86.

87.

(/]

Which of the following statements is/are true in relation to Telangana economy ?

A. For the year 2013-14, the growth rate of gross state domestic product (GSDP) at constant
(2004-05) prices was around 5-55% (provisional estimates).

B. For the year 2013-14 (provisional estimates), services sector registered more than 7% growth

rate.
Choose the correct answer :
(1) B only : (2) A only .o (3) Neither A nor B (4) Both A and B

BOOMe SR S53980 DOOHON (§08 F§BOS’ DO/ 2.5) ?

A. 2013-14 S0S5SITRE T, VS édoes"(g_pm_os)) o O3 BITrS)B (GSDP) 590 Ben drdd
5:55% (&), OF 00T ) ™ &od.

B. 2013-14 Q05308 M, (@30 e0tITren) D S0K0 7% Lo DB 390 TEND S
T0d. N

DB AIFTTR) DOTHE W ; N

(1) BSHS$D - @) ASrSD || 3) ASDOCHBBONrSS (4) A O B B0k

Based on per capita district domestic prd}'}\ilct (at constant 2004-05 prices) for the year 2012-13,
which of the following districts in Telangana was identified as one of the poorest districts ?

(1) Medak (2) Karimnagar (3) Rangareddy (4) Nizamabad -

2012-13 QOIBITVE SOWOHOD (2004-05 PE BB 08 Ber TIBVres 18 eSO BOOMrRS'D
1808 BT OS" B @8 DS TS 2,883 HO0SE0 2OROA ?

1) DS§ (2) 60515 (3) Sorrdd @)  Jersrerd

The Human Development Index (HDI) value and rank of Telangana among the states in India in
2011-12 were respectively : ‘

(1) 0-51 and 10 (2) 062and3 3T (3) 056 and 11 (4) 0'45 and 13

2011-12 & erESTIOSR TEFOS’ BOOME)TOEY, SIS @DIYE HrdE (HDD Dens SHOA 50§
SEJT : |

, it

(1) 051 HBAM 10 (2) 062 B é‘g (8) 0-56 S0k 11 (4) 045 30 13

On the recommendation of which of the foildWing was the Linguistic Provinces Commission (known
as ‘Dar Commission’) appointed ? 'S

(1) Both Houses of the Parliament 1

(2) States Reorganisation Committee ;C:;,'
(3) Standing Committee of the Parliament. ..

(4) Drafting Committee of the Constituentt}{ssembly

808 58S B JFEV © STEOMT, 2rar (DASNE EAR (S0 EOAR ©Q @O0EFH) O AALDOIEL0
200068 7

(1) FE0eNS’ Boch Hsen

(2) TTe HSB S590E8m Ees

(3) >Eot oS0l Ees

(4) T2r50l HOXE (Constituent Assembly) Std EQes

Which of the following statements is/are true in relation to per capita income of Telangana ?
A. Thg per capita income of Telangana at/cirrent prices has shown an increasing trend during the
period 2004-05 to 2013-14.

B. The per capita income of Telangana at tonstant prices (2004-05 prices) in 2013-14 was more
than fifty-five thousand rupees. /T '

Choose the correct answer : 7~
(1) B only (2) Aonly . (3) Neither AnorB  (4) Both Aand B

SO0 SO0 errairdE H020800 (Eod TS DA/ 2 ?
A. 200405 06 2013-14 5655 srer06S ¢

S e SOX0 BETOH0 DOA ES3
BOHEN06, DR Gdod” Bwo

B. 2013-14 & Beorrem dens 2 S) aIrd P& IO ErTcHe o)
parnis iy BTAN0 PG S8S” (2004-05 SEOS) O

OB ASTLFTR) DOTHETDS -

(1) B €835

ke
(29) B



88.

89.

90.

91.

Which of the following statements is/are true in relation to the population of Telangana st.ate ?

A. As per the Telangana State Statistical Abstract—2022, the population of Telangana in the year
2031 would be more than five crores.

B. As per the population census 2011, during 2001-2011, the absolute increase in Telangana state’s
population was less than fifty lakhs.

Choose the correct answer : " &

(1) B only (2) Aonly ('3!) Neither A nor B (4) Both A and B

SOOME TR BT 020HO0D 80O a‘gmsocﬁ‘ DO/ ) ?

A. Soorre o7l YeSVES @S| 752022 Lo)S'éO 2031 S HDOBSIB0S’ Berormre TSy 2D DL T
E0T) QBOLIT SOLNOA.

B. 2011 a3 8L 10560, 2001-2011 S"c)ocS6 BOOme TR 27r DY, DS ASrgd oo
E0T) SHLIT &0, [

QBN NITET R, DOTDE A o

(1) B Sr|edad (2) A ST (82 A DO BTOAY Sy (4) A HOO B Bodksy
As per National Family Health Survey-5, the percentage of women (between the age 15 — 49 years)
who were literate in 2019-20 in Telangana was around :

(1) Two-third (2) Three-fourth (3) Four-fifth (4) Three-fifth

S 0002 ey $B5-5 (9560, 2019-20 & BoorreseS‘ TED (15 — 49 DONSIT° NEE SOOIV
EOASTE) 08 T TS50 dSTST :

(1) 2/3 S S0 (2) 3/4 S Soh (3) 4/5 & S0k (4)  3/5 Soh

As per National Family Health Survey-5, the Uxfder Five Mortality. Rate (USMR) in urban areas in
Telangana was :

(1) Less than one-fifth o
(2) Nearly one-fourth P

(3) More than the infant mortality rate (IMR) of Telangana state as a whole
(4) More than the infant mortality rate (IMR) of rural areas

SO He00 ey V-5 D560, 6@0(1‘2965‘&) IR [ oToOS D HoSS Yo' (USMR) ¥oth
50209 S0H) O’ HSsTe> Beéw - iy

(1) 1/5 & S0e% 0T 6808 o2

(2) QST 174 &S S0k

(3) Soorre U120 IS0 NS 3D ST Bew (IMR) o) NISVIN
4) ([TDE [roEes 36 e Bew (IMR) E0dy DBOYS

Which of the following statements is/are true i
the National Family Health Survey—4 ?

A. Population above 15 years of age was aroun

(=

n relation to the population of Telangana state as per

d two-third of the total population of Telangana

state. 3"

B. Pt:OIiulatlon below 15 years of age was nearly’ one-fourth of the total population of Telangana
state.

Choose the correct answer : .

(1) B only (2) Aonly (3)” Neither AnorB (4) ‘Both A and B

g © S0 %0285 HADKDY EONS 23aer D055 23 & S0
B. 8eorr o ) o
&md}m Tl S0&0 2TErS’ 15 20383070 6% 880y 3 DY EONS 23aer Doy 1/4 & H0H
QDS ST DoBE S -
(1) B S»
S 2)  ASHeD 3) A8 BBodr 5y (4) A S8k B B0GT
R 24

(30) A



92.

93.

94.

As per Census 2011, in which of the following districts in Telangana was the population sex ratio

more in rural areas than in urban areas ?

(1) Nalgonda (2) Khammam (3) Mahabubabad (4) Adilabad

2011 332 BHO (D560, BTSN 18080 A BT'OS amrer Do ANIB D& (Drosre 0B Mo
oS’ D80 ST GO ?

(1) Sgoc (2) X0 B)  Sararers @) ebderard

Match the following classes of land with the extent of standard holding in Telangana as per
Telangana Land Reforms (Ceiling on Agricultural Holdings) Act, 1973 : ;

Class of Land (Per Annum,) Extent of Standard Holding (In Acres)

A. Double crop wet land (Class-A) L20

B. Wet land other than double crop (Class-C) II. 40

C. Wet land other than double crop (Class-H)-'II1. 10

D. Double crop wet land (Class-D) («: . 15

Choose the correct answer : of

(1) A-III; B-I; C-II; D-IV - A2) A-I; B-IV; C-II; D-III

(8) A-I; B-I; C-IV; D-III /..‘(;4) A-III; B-II; C-I; D-IV
SO0 APA0NCRO (SISTADH Shere HOY, HBS) W&o, 1973 |HFE0 Beomres’ 80O 2
SSHB (re3s EDB0 VYOS 2D L

20 SENS (30SS)07D) s (WSreSE $DS0 DD (DForeeSH

A. BO JHoLeD HOT $B L (SSKB-4) L 20

B. B0 DO HOT DS 0 25 ($SK3-C)  IL 40

C. BOC HOLIEN HOTW BrSA &8 X5 ($SKe3-H) III. 10

D. DO HoLen HOT S8 25D ($SKS-D) V. 15
DB DSTFETR), DOTHEEM :
(1) A-IIL; B-I; C-II; D-IV "(2) A-I; B-IV; C-IL; D-III
(3) A-IL; B-I; C-IV; D-III (AL BIL CT; DIV

Consider the following Assertion (A) and Reasqﬁf (R):
Assertion (A) : Vasishta Bhargava Comnﬁtteét,w'}vas appointed to look into the spending of surplus
funds in accordance with the a’ngeements between the representatives of Andhra and
Telangana regions. o ”:

Reason (R):  Kumar Lalit Committee was afiﬁointed to assess the Telangana surplus funds.
Choose the correct answer :

(1) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(2) Both (A) and (R) are true and (R) is the correct explanation of (A).

(3) (A)is false, but (R) is true.

(4) (A)is true, but (R) is false. S5

B08 G988 (A) B SETR(R) B00IOE :

SIS (4) : @o|es B BOOMTED [0 BB ¢S BOAS 20)0ETO (O57E0 DHED AGHED

DEYVEE0 HOOOTIETDS S5F2F S EEIR DAL 2ONOB.

SO0 (R):  Berome Miben DO O SHerds Kir6 ©dS K0 IAHW0560 2008,

OB OSrerard) Do Fasodn ¢ s -

gz Z:; gga&n (R) Boci> 2.3, $ (A) £ (R) HOQ@S DS S'E.

@ (& év\oﬁn (R) aoafy 2,59) HBAW (A) %0 (R).QBTS DSGED.

“) (A)&:?J T ® i),

2 5 (R) ).

(31) Ohea



95.

96.

based on decadal growth rate (%) of populatiop y
r base

Arrange the following decades in ascending orde
ung p. 1971-1981

ngana :
g.ek;o%n - 2011 B. 1991 -2001 c. 1981-1991
Choose the correct answer : B.D (4) ABD, C
(1) B,A,C,D 2 C,B,D,A @ AGCB 7 g §20S e
BeOTed a2y LY STY S9@ B (%) edorT Bod CS%"Q"OQ ) 1971 — 1981
A. 2001 -2011 B. 1991 -2001 c. 1981- 19
DB HIFTRR), JODE OIS : 4) A,B,D, C
(1) B, C,D @ C,B,D,A @ ACHY tructure of the total populatiop
Which of the following statements are true in relation to the gg; 25) 0 of
Telangana (as per the Telangana State Statistical Abszga::(;m 98- 3 lakhs in the year 2021,

A. The population in the age group of 10 — 14 years W

i 6 would be around 25-4 lakhs,
B. The population in the age group of 20 — 24 years :2 the year 2031 would be around 32:61 lakhg,

C. The population in the age group of 40 — 44 years : ' .1d be 27-8 lakhs.

D. The population in the age group of 55 — 59§3ars in the year 2036 wou

Choose the correct answer : e |

(1) A, B and C only ={2) CandD only
(4) BandD only

(3) A and C only « : =
BOOTR TR IS0 22> TBNEY SO ér!%ué\ﬁ HoVOHO

o7l TESNES eS| F§ — 2022 (95°60) ? .
A 2021 HOSSISOES 10 — 14 HOHS IO SAHRY SONS B2 L0SrED 28:3 ©F.eNM GOA.

B. 2026 0053506 20 — 24 0S¢0 S FONS 27a" D358 25-4 ©F T GOLNOH.
C. 2031 5033350 40 — 44 HOSS T SAHITY EOAS By 32:61 & e GON0A.

D. 2036 5053506 55 — 59 05307 S0HX0) EOAS a7er 27-8 ©F e GotNod.

the year 202

808 TssOS DD 2) Boomg

DB DI JONE OV :
(1) A, B H8A5 C Sr(ehad @) C 3050 D Sr(ebad
(3) A OO C SFSD @) B S00k D S

Which of the following statements are trué’in relation to the male and female population o

Telangana (as per the Telangana State Statistical Abstract — 2022) ?

A. In the year 2016, the male population in t}i“é:age group of 30 — 34 years was less than the femal
population in the age group of 30 — 34 years. |

B. In the year 2021, the male population in t}ie age group of 80+ years was less than the femal
population in the age group of 80+ years. ‘{w‘ \

C. In the year 2031, the female population inithe age group of 65 — 69 years would be more than th
male population in the age group of 65 — 69-years.

D. By the year 2036, the sex ratio of children (0~ 4 years) would be favourable

Choose the correct answer : '

(1) A, B and C only (2) BandD only

g) A and C‘?nlyd) PR (4) A, CandD only

OOITE U7 )OO T BT & ‘ v

TERES @B F§ - 2022 55°60) ? wg;’:" OROKOD 1808 Fgmses’ D 2y @worrs It

A. 2016 5053506, 30 — 34 HOSe O° SEDAKES Yatka anen
et asfw b 85555 510 4 ol 35053230“0 VDDO 2T, 30 - 34 HOSS Yo HOHA

B. 2021 J058)60¢, 80 NOJSIT® K0T I¥ohas Sk
B3 HADM YA DT FO BTZ F0T SKST God

C. 2031 H0s53)506, 65— 69 DOSSIT' SO '
OO BT S0 JHYST S0Ewod. | |

D. 2036 &5 003380 T¢38, (0 — 4 HDOSSITer) B8

DY Yo Barar, 80 HosSI00 O
Yo SHrde amrar, 65 - 69 DOSeYT"O Sohe

O Oof NYB eodresom GOENOD.

QB NPT, DODE OV iR
(1) A, B 605w C S{ebhad 2) B
(3) A OO C SR @ 000D S,

(32) 2




98.

99.

100.

gqgf%lC;)g the following are flagship projects of Telangana Industrial Infrastructure Corporation

A. Apparel Weaving Park at Sircilla B.  Mega Food Park at Buggapadu

C. Sultanpur’s Medical Devices Park D. Industrial Park at Zaheerabad
Choose the correct answer :

(1) C and D only ' (2) A andB only

(3) A,B,Cand D ©>  (4) A BandD only

800 T3S DD Boore FOFWE FOF 530 T IBAS (TGIIC) Tk DTS | BPen ?
A. VOV SQ oNen I3 6y, C}: B. 22 5 e H& 6y, ¥

C. TR0 Js Hd¥o ® J5), \! D.  23roerd SO roFNE 6

$BS DEFETDY, DODE Bk - Q |

(1) C HBAW D Sr(ehad (2) A DBCW B Sr(¢bad

Lt

4) A, B&Oam D Sressh

§ &

(3) A, B, C 08D

As per Telangana Socio Economic Outlook-2023, of the total number of persons working in

industrial sector in 2020-21 in Telangana, the manufacturing sector has provided employment to
around :

(1) 36% (2) 28% 3) 58% (4) 52%

Bo0oren TEres ed8 Soe0-2023 (D560, BeomreasS 2020-21 & FOFNE SofosS HA TYS)
TS0 SO, SATE S0KO ST JAH T¢50 LHOBE Gard §O)0D08 ?

1) 36% @) 28% % (3) 58% | 4) 52%
[«

Arrange the following subsectors of serVice sector in ascending order on the basis of their
contribution (%) to gross state value added (GSVA) in 2022-23 (provisional estimates) in Telangana
as per Telangana Economy, Provisional Estimates, 2023 of Government of Telangana :

Financial services o3

Public administration e

Real estate, ownership of dwelling and professional services

Trade, repairs, hotels and restaurants

HoQWwp

Transport, storage, communication and services related to broadcaSting
Choose the correct answer :
(1) B,A,E,D,C (2) C,D,E, A, Ba (3) D,ABEC 4) B,C,A,D,E

Be0mre (HEDS ) BOOMED SO, Eﬁ'@"zf@\ﬁ e90STPeD, 2023 (HS°E0, 2022-23 (@e,OF wotTren) &,
Seorrn e TR Dedd HEoHS' D 3B%0 Ty &ISOTe e (%) serdor (80t B 28S v
S0K0 T30} GOS0 BT 55006 8L )8 :

A, es0% Rvdew <]

B. (HZ0SS D8I 0

C. oD, Dad CIrETS0 OO H9BHETS Dsen

D. S350, S0Been, ety HOA ;9@}5 s

E. 8o Qo5 E507sBAS SHBA5W |ORrE S0 Rden

DD DAY DO TAROD : | |

(1) B,A,E,D,C (2) C,D,E,AB 3 D,AB,E,C @ B.OADE

ke
[r] (33) B



101. Which of the following statements on Garib Kalyan Rojgar Abhiyaan (GKRA) are correct ?
A. It was launched in 2021.
B. It aims to provide 125 days of employment.
C. It focuses on Gulf migrant workers only.
D. It was launched in Bihar, Jharkhand, Madhya Pradesh, Odisha, Rajasthan and Uttar Pradesh
states in the country. ;
Choose the correct answer : e
(1) B, C and D only f:\;
(2) A, B and C only \;
(3) B and D only <J
(4) B and C only
1025 ¥ 565 BX 8 DTS (GKRA) % 50200600 Lég‘q‘) T30S DD DB ?
A ad 2021 S [ E0DOSHA0S. 05_5
BT 125 B0 &0 00550 A &BF0. @3
C. 20 HS) IO $°8H00 ) SPSD S92 0B,
D. O BIoS Db, drdod, sy WOB5, 28X TEFS HOG &8 (WEF olred
@rdodod. T
QBN AT DODE TS -
(1) B, C 805w D S|
(2) ‘A, B30 C Sr(esah %
(3) B S0005 D S5 ©
(4) B SH605 C Sriesh. o
102. Which of the following statements regarding Prim{;Minister Awas Yojana (PMAY)-Urban scheme
" are correct ?
A. It is intended to provide housing for all in urban(‘ﬁieas by 2025.
B: Affordable Rental Housing Complexes (ARHCs) 1q a sub-scheme under this scheme.
C. The scheme has made a mandatory provision for the female head of the family to be the owner or
co-owner.
Choose the correct answer :
(1) B and C only . (2) Aand B only
(3) A,Band C - (4) &and C only
DE°S DO e85 -Bre2S-3¢)ed (PMAY-Urban) X)ésw‘ﬁg QOVOHON 80H FswsereS” O QBED ?
A. 2025 T°¢38 HOE (0TS @008 HydFered @o&oiﬁ&;‘ag O SFR0BDA0A,
B. & DGE0S” SBIRS 9T #5955 dSnaraliren (ARHCs‘J OO ¥ &I-HS¥o.
. & DB%0 8005, Hen020TA HIFYT AHS (wEL O ADBITFAMT B DF-CHBITIT Goarers
RVOID 5NN T0A.
DB S SSTTRRY oDE TS : ‘fa
(1) B- 083w C Sr(ehad (2) A HBAM B Jriehsd
(3) A, B 005w C (4)) A 83 C Lr|ssH
kO]
R (34) F R



103. Who formulated the National Rehabilitation and Resettlement Policy, 2007 ?

104.

105.

106.

(1) Land Resettlement Division of Department of Land Resources under the Ministry of Rural
Development

(2) Land Reforms Division of Department of Land Resources under the Ministry of Rural
Development

(3) Land Reforms Division of Department of Land and Water Resources under the Ministry of Rural
Development

(4) Rehabilitation Division of Department of Land Resources under the Ministry of Rural
evelopment

280D YITTH0 KHBA AITTD DGR, 2007 & IS ErFoBoTdd / Ar(eBEdomEd ?

(1) rDFTDIB DOBSS 75 I8} 20 SSHS 20 HSTTH DeFHi
(2) [rRETDIYE 0B § T TaE) &5 $SBS B 50K B DT
@) TSI S0 3 T ToEy 257 OGS DE SSC &° H0) B DM

(@) IO HOBS s T Ty 80 SSES HRT O Dertiesw

Based on the urbanization rate (%), as per Cénsus 2011 data, arrange the following states in
descending order : ]

A. Karnataka B. Kerala !(:Cl Maharashtra

D. Tamil Nadu E. Punjab P

Choose the correct answer :

(1) A, C,D, B, E (2) C,D,AE,B (3 D,B,CAE (4) C,B,D,AE

2011 arer BELO (D560 SLBSESD Bé (%) eS0T, (808 TEFOD eIFT e ($5H0S @808 :
A. Sor)ed B. B¢ C. HIFoR

D. ST E. dozrd

IB S DIFETETR), DODE TN : 5% _

(1) A,C,D,B,E (2) C,D,AE,B ® D,B,CAE 4) C,B,D,AE

i i ion i i -202 i ing statements is/are correct ?
According to Migration in India Report 2020 2021, which of the followm.g S i . ‘
A. The All India migration rate was 28:9% for{f}ly 2020 — June 2021 with a 26-5% mlgratlén rate in

rural areas and 34:9% in urban areas. o, . il
B. In rural India, when compared to women, men recorded a higher rate of migration.

Choose the correct answer : F!
(1) B only @) Aonly

) L
(3) Neither A nor B (Sii) Both A and B o )
oS ST ST SOHO JBHE 2020-2021 (5760, (80O TSI DO/ 2 ? P
s S B, ' 2020~ 275 2021 638 Todo rESTHOS 289% M, (e oz
 B5% e SO0 D [FoTOS 34:9% S 0d.

B, rone erSSTE SO0 BEND (D008 O )32, HEDED BT TEVD ST 5.
. U - - ’ ’
DB HITTRR), DODS R{OVWAWK

(1) B Sr(e53Dd

3) A B B BOGT S :
According to the 2011 Census, the top three Indian metropolita

(2) ASrSD
(4) A SO BTG

n cities in terms of urban population

(alr)e lzwumbai, Kolkata, Chennai (Z‘) Mumbas, Ben}?'al}‘ér?ﬁgzlkata
(3) Kolkata, Chennali, Bengaluru Key Mumbai, Del 183 gﬁ) e
9011 ey BELO (D5°60, D ST B2y bé’oT mﬁ&aé%rﬁ @g’& )

(1) S»oB, §&5&, TS @ 03, Les

(3) ESES, T BoHsTd @) 003, ad, £55

N
oA

N |
|
|

Ok
O

(35)




107.

. itution of India ?
Which of the following statements is/are true as per Article 300A of Constitution

A. The government can impose ceiling on land holdings.

B. Right to property is only a legal right.

Choose the correct answer : A

(1) B only (2) Aonly (3) Neither A nor B
238565 T 0N @HEGEI0 300A D560, (808 T sDIOS DO /D 2ad) ?
A, BrEHT o (0206 50 HO DOWBR DOOTIITN).

(4) Both Aand B

BT e TE0) (D00 S300 G TH0) Sr(eSD.

DB AIFEFIR), DOVE TIOVIW : =
(1) B & @ ASHSD (3 ADHOCNHBBOErSY (4) ADOKN BOOGY
108. Right to Fair Compensation and T‘ransﬁhé_jfency in Land Acquisition, Rehabilitation and
Resettlement Act was passed in the year : A
(1) 2008 (2) 2003 13) 2018 (4) 2013
SrDEEH, HITTV0, TIPS HOHE0 HECKY FBEERS FEy WWo D H0SS60S &0
TaHa&od ? -
(1) 2008 @) 2003 () 2018 (4) 2013
109. Which of the following statements about the Forest Rights Act (FRA), 2006 is/are correct ?
A. The Act encompasses rights of self-cultivation and habitation. '
B. The Act reduced the importance of Gram Sabha.
Choose the correct answer : _
(1) B only (2) Aonly
(3) Neither A nor B “{4) BothAandB
063 5020 YO (FRA), 2006 (5750 & (808 TS DO/D 2.5 ?
A S90S & JODRMD SHBA A T80y e FoHDSSRGF AW,
B. & S0 [T 32 G s Sodod
BN AXTTETR), DONE TOW &
(1) B areH @ ASTSH
(3) A DB B BOT 5% 2@ A 80 B Bodky
110. S:—:rx:ct ‘;?Vo'rld Inequality Report 2022’ for‘‘India, which of the following statements fs/are
A. g‘ixcea ;:gort presents that inequality of income in India has been increasing in the last few
B. gzl:agzion suggests that inequality of wealth in India has been decreasing in the last few
Choose the correct answer : &
o essnss s o s g oD @ Dol ana
A & ABHE 105760 2rES$B506S 3570 @«‘6:15‘:6‘;‘5@ e ioa s =7
B Boiaris o - Q) A7 erenm ’;o%r &) QW.
: (9580 grESTI0S” DONWO ISFSeher Hes $Q) STgrentr éihesorr) ow
VB SIFTTR), JODE Tk : 1 '
(1) B Sr(e83%H (2) ASredad (3) A B B oy S (4) A B0 B BOkr
a (36) o

ERa



111.

112.

113.

El (37) BR

e A . . s B S R S 0 2 D UK RSN
QR S SAERSORE S v N BT S SSR

Match the fi : :
S ) . Slowing Sustainable Development Goal numbers with their objectives :
ustainable Development Goal Number Objective
A1
B. 5 I.  End poverty everywhere
C. 7 II. Ensuring affordable and clean energy to all
D. 10 ITI. Reduce inequality within and among countries
. IV. Gender equality and empowerment of women
V. E : sti
Choose the correct —— nd hunger and malnutrition
(1) A-II; B-I; C-III; D-v
’ ’ ’ 2 A_I’ B-V: I1- K
(3) A-IL; B-IIL; C-I; DIV 2) V; C-II; D-TII

o (4) A-T; B-IV; C-II; D-III
508 RTDI9E OE§ DOPIOXD T¢3 OFOS BeBDGTIEW :

DPTDSYP o so INTeX L0

A1 L (8 S D0 dEmos

B. 5 L 363D Haffordable) SO H55IHS ROBS0 0308

éow&géf OO '
C. 7 ML B350 e 200K T M5 eDIFISOD SH0se0
D. 10 IV. Dol HAFIS OGN Hirer FOSES
V. 59 éiﬁcﬁ)) D ASIG S (malnutrition) Se>POIE0

DD DIPEETR, DOTHEESD : o
(1) A-IL; BI; C-IIT; D-V (@) AT B-V; C-II; D-II
(3) A-II; B-III; C-I; D-IV (4‘) A-I; B-IV; C-II; D-III

Which of the following statements related to Chipko movement is/are true ?
A. Chipko movement is aimed at protecting trees and forests.
B. This movement originated in the Hinialayan region of India in 1973.

Choose the correct answer : o
(1) B only :j
(2) A only e
(3) Neither A nor B i l
(4) Both A and B -

D5 GsErOE 5020600 806 T wOT; DD 23)7

S 5,005 ©BEHOD BEOBE0 & N0 Tk eFio.
B ay;é‘o‘%oé‘&) 253770205 050 1973 &' & 595300 B0BOB.
$BS HIFTER), JODE BAWLD :

(1) B Sr(& 5

(2) A Sy Lf
(3) A S8cs» B BOKT 5°)
(4) A B0 B OOGT

In which year was the National Green Tx‘:i'lvi_tlmal Act enacted ?

(1) 2009 (2 2008 L (3 2018 4) 2010
2 Ba%H S0 €32055S WO D H03 3608, GO ?

(1) 2009 (2) 2008 (3) 2018 (4) 2010



. n
114. Match the following conferences with the year in which the €0

Cawp

Name of the Conference

United Nations Conference on the Human Enviro

Earth Summit, Rio-de-Janeiro
Werld Summit on Sustainable Development, J' ohannesburg

United Nations Summit on Sustainable Development

Choose the correct answer :
(1) A-II; B-I; C-III; D-IV
(2) A-II; B-I; C-IV; D-III
(3) A-I; B-1I; C-III; D-IV
(4) A-IIT; B-II; C-I; D-IV
%1808 JHSrSTO @ BOAS HoNS IS0 3¢ (géx:i)chn

A

B.
C
D

OarIso DeH u‘g
SIS DTS00 DELT2E D& ASFRFO, @'EJ‘SJ L.
B HANES, OTr-B-E I

008 D3O DV0S PO HS3FSF0, 23‘03"3;«)235 I1I.
0VS DR D 0¥50725 DS Qmo"uﬁ BNRE Tl IV.

$BS DITETR), OTHTSW :

(1) AL B, CAIL; DIV

@ AIL BI CIV; DI
(3 AT BL CIIL; DIV &3

(4) AL B-IL; C-I; D-IV ol

115. Arrange the following Acts in chronological order :

A
B.
C.
D.

The Compensatory Afforestation Fund Act
The Wild Life (Protection) Act I
The Biological Diversity Act e
The Environment (Protection) Act

Choose the correct answer :
() B,D, C,A @ B,C.D A

3) A C,B,D (4)
808 WEFOD SPOESTOTE0 @0E)0G :

A.
B.
C.
D.

QOB DIFETR), DODE T ©

(1)
(3)

%]

HBS & 0DHEO DG WO &
S8 [Frened (D0BE ) BEO '
B A O

D055 (DOBE €2) YL

B,D,C, A @)

B’ )C, D, A
A, C, B, D (4)

D’B,C A

bl

(38)

ferences were held :

nment, Stockholm

D03e3)J0
1992
1972
2015
2002

I.
118
II1.
IV.

Year
1992
1972
2015
2002

<
o



116. Which of the followin

117.

118.

e — ———— ——

e A O DS TN SR W ST

g stat : : "
Pollution) Amendment Act, 28?: f;ts are true in relation to The Water (Prevention and Control of

A. This Act of Parliament received the assent of the President of India in February 2024.

g"}kﬁs i(:t was enacted by the Parliament in the 76th
1s Act applies, in the first instance, to.Delhi and Telangana states only.

da ys pt;rson V.Vho fa.ll.s to pay the penaltyimposed under the provisions of this Act within ninety
ys ot such imposition shall be punishable.

Choose the correct answer -
(1) B and D only <

o & 'S (2) A, CandD only
(3) A and D only i\‘"i (4) A, Band C only

N (sends Aardem S0a% dabose) DSBEITIRO, 2024 F0 H020HOD (§08 T §WOS D 259 ?
A TE0ED TIS & 9690 D230 2024 & 03B OIS SIP0 0B,

B. 2r343% 765 feacsoes 00355065 FTR0LD & L3I TOHEIO 2OROA.

C. 80T I IS & 5005w BeOme Trels Sr$H S805TaHe0 26008,

D

- 82 SRQOS'D DTN AWOLRE (HFE0, DO NS ZOITT DOOTE0 BHHEOE 78 BOITT
QB0 F0B Fare> SHe, A BOoSENS 3THOIeEH.

year of the Republic of India.

Daw

RBR DTG DONE TAVEI : '
(1) B 0800 D S(ebsh 52 (@ A, C 00w D Sr(edsd
(3) A O D S(ehadH & @ A, BB C SHSTH

As per Forest Survey of India, which of the rf(il;,lowing are classes of forest cover ?

A. Very dense forest ‘\! B. Open forest

C. Moderately dense forest (] D. Mangrove

Choose the correct answer : '

(1) A,B,Cand D o’ (2) BandC only

(3) B and D only - (4) A ,CandD only
0D HB S e ROAAST (5760, (8od TS DD @D DO (forest cover) S°Q SSHSIEN ?
A, ey SHDS 98D B. 230800 e

C. DBV SE e D. ¢ e9chd

BB DIFETR), DODE TIOVW ©

() A B, C 55805 D o @ B0 CaneH
(3) B 8050 D &reseh E) (4) A, C 500%0 D Sr(ead

Which of the following statements is/are tru%?
A. National Mission for a Green India was Ja'Unchcd in the year 2012.

B. National Bamboo Mission was launchedéfjx 2012.

Choose the correct answer : D
(1) Aonly (2) Bonly o 3 Neither Anor B (4) Both A and B
1808 55 DO/ 29 ? 7

A BHISSE WAS HB D BS R0ACETSY 2012 & H0Se )50 |E0DOT .

B, A5 20exr (bamboo) DASD 2012 S D80DoTH.

v, . ;’35‘(3‘3"(03, oDOi’)é 8()’5.)):)33 :
Z?iir@?& 2 BIrgd (3) A B0 BBoGr sy (4) A SO B Bodkr

..

&
=
(L]

(ORdO]
A
Fr

(39)




119.

120.

121.

‘Har Medh Par Ped’ scheme was launched in the year :

(1) 2014-15 (2) 2012-13

(3) 2018-19 (4) 2016-17

8 DO B DE’ D5, (G0N0 DOJehIB0

(1) 2014-15 (2) 2012-13

(3) 2018-19 (4) 8%016—17

Which one of the following Acts related to environmféjg)t was enacted in 1995 ?
(1) The Noise Pollution Regulation Act (:]

(2) The Municipal Solid Waste Management Act ™

(3) The Batteries Management Act 8

(4) The National Environmental Tribunal Act e

HOSEETIE H0BODS 1§06 O WBErD) 1995 S TwE3?
(1) %2 senAg E0PEBR SWo

(2) A0S NS ST QY $376 W&o

@) erserde N7 H&o

(4) ZSADH HO 5SS (€325 &0

Which of the following are the reasons or factors mﬂuencmg rural to urban migration in India in

general 7 - ( )

A. Climatic and meteorological disasters like ﬂoodﬁ and droughts often compelled the people to
leave the villages.

B. Youth have shown a tendency to look for jobs in K_he cities.
C. Educated and technically skilled persons prefer tg leave for cities for better opportunities.

D. Higher wages in urban areas attract people to migrate.
(&1

Choose the correct answer : )
(1) B and D only (2) A,CandD only
(3) A, B and C only (4) A,B,Cand D

1800 TS 3rESTF0eS, TS0, (Taded (oo 0 HEE |Froerery
OO (DZTNS0 T 0T D) ? C ONOX e s deTre B

A TS0 5H0050 T 90208 dHehen @K)n‘ DG, YO QTN (H3eD PITFO S$4E)
3‘5@6) W C!‘

B. 3Qmed aard S8 ohuse (mare dod & a@wa))S\u O IFS .

£ Hbereret DTS 9557 §
iy © S5 dorgsoehen ai)C?dm T30 EONS 3 (rasred Hod HEeTerdd

T OS oy S 2 g
0% e O 50 B (reired OB (DN DLETOR S0 TS,
TR, D0DE TS : og
(1) B 5605 D S5 ¢ g

(2) A, C 8% D Sr(eszh

(3) A, B S8akw C AV (4) A, B, C 85w
el b D

(40) R0



122. Under Mahatma Gan

123.

124,

(41) Ensd
R]

— P T 4 e e T AT % L AT R R -

dhi National Rural Employment Guarantee Act (MNREGA), which index is
used for the revision of wage rates ?

(1) Consumer Price Index for Agricultural Labour (CPI-AL)
(2) Consumer Price Index for Rural Labour (CPI-RL)

(3) Wholesale Price Index for Industrial Labour (WPI-IL)
(4) Wholesale Price Index for Agricultural;Labour (WPI-AL)

e TO0 ZBAD (e ere GO (MNREGA) (806 D 4rds F&s 560 88 S5
GO NoLP2RS 0 7 G;;

1) S5SJAH (%o TS ATrAicrEre hde N8 (CPI-AL)
2) (8 [Fdoes §&55, AT SBe &) (CPI-RL)
3) TOFE 1T TELy ey &5 Sy (WPI-IL)

(@) SESIAH [TV FEK &% e m@it}lWPI-AL)

Which of the following are the salient features of the Special Economic Zones (SEZ) scheme of the
Government of India ?

A. No licence is required for exports.

B. Manufacturing activities are allowed.

C. Licence is not necessary for imports.

D. SEZ units cannot give subcontracting.

E. Service sector activities are allowed. =@

Choose the correct answer : ®

(1) A, C and D only o (20 ABCDandE

(3) A, B,D and E only (4) B, C andE only ‘
1BOB ¢35 28 eh 1925065 50 TBwEY (DB e/Qi oered (SEZ) HGHED Snws eF eren O 7

A DHDBIO TEH DENN0E BIS) I8 S&o..

B. 058 (manufacturing) S°OESren @&Jé@oéaé@w.

C. BHDHOH BRIS) @II50 Scd. f;f

D. 985K 308 HH0%ereS CAFVEY &) SOETF v B ST

E. o %08 sE5E8ren 000805088 0.

3B DT, JODE TAMIW :

Z)Qi,“z; :»q;ojw D S5 (2) A,B,C,D 3805w 1;:5 .
(3) A, B, D 08050 E S5 . 4 B,C B0 E &yl

. i idi ional Poverty Index (MPI) is/
Which of the following statements W1th8§egard to Multidimensional Poverty Index ( ) is/are

i =\
lc&orrflifn'lan Development Report 2010 inté%luced this concept.
» . ication and'standard of living are its dimensions.
B. Education, health, communi <]

swer : '
Choose the correct an O (2) Neither A nor B

(1) Both A and B @ e
(33 B only 5, 46& H7OE (MPD) £ 020500 808 5p3eS’ DB/DD HBSE/D ?
e ?:’:))5 B QIO (HDR) 2010 & 278859 53926308.

y mié@e;‘(%soa EXorgBAM DO B35 (HSreD 0w, T Feren.

B. d&

4R & 28 Tosodw: ,

$BS :oés‘t;i‘a‘;% jg; (2) A S350 B BOGT 59
6% Ai;?j_; @ ASrSD

3) B



125. Match the following Indian Government initiatives with their aims/objectives :

Programme Objectives e
. . . . S

Mission Indradhanush I. Assured minimum pension for senior citizen

eSanjeevani II\c00nservation of water for the future

I, ;Universal immunization programme

I\/I’\E{';Providing sustainable drinking water

v’ “To enable patient-to-doctor teleconsultation
<

Pradhan Mantri Vaya Vandana Yojana
Mission Amrit Sarovar

oaowy

Choose the correct answer :
(1) A-III, B-IV, C-I, D-V (2)] AV, B-I, G-IV, D-11
(3) A-IIL, B-V, C-1, D-II 4] ATV, B-V, C-IL D-III
1808 278 (D2 § SBESTO8 ¢S ©F 5/ alOLY 23T :
0P80 OISV

V. o o aHo
A DAS GSHD L Syfpes 53 0 Srad Docdd OG0
B. 2d0&3 L 255 §%0 A HosEE
C. DTS S0 H0H $05S 11 88 8 DT 5580
D. A8 08 I8 IV. 2056 @1 DS ©0B0DE0 )
V. Sn8-Bnsd8 Sess BOEIIBAS D @oROWVTS
DB DITTTR), DOTNT W © w2
(1), A-IIL, B-IV, C-I, D-V ﬂfh AV, B-L, C-IV, D-II
\g{) A-ITI, B-V, C-1, D-IT ‘éﬁu)d A-IV, B-V, C-11, D-11I
126. Poverty can be classified into the following : \]
A. Absolute poverty B./‘_‘ Primary poverty
% C. Relative poverty D¢ | Secondary poverty
i_ Choose the correct answer :
(1) A and C only (2)7 A, B,Cand D
(3) Aonly (4)7 B and D only
| £HS85°) 808 DB SPEBOISD)
" A. QE0E BB ' B. Q8 0S8E0
B C. DL D630 D. &899 (R808) DB
. DB DS, DODE TS :
y, (1) A B0 C S (2) A,B,C 5005 D
e 127 gr :n érLi&f ot (4) _ B 300k D Sriehzd
. e . L O ve A
Yonds hging :e ollowing schemes of Indian Govergfrent in chronological order on the basis of their
A. Beti Bachao, Beti Padhao (BBBP) oot
B. National Rural Livelihood Mission (NRLM)
C. PM Street Vendor’s Atma Nirbhar Nidhi (PM @AN idhi)
D. Swachh Bharat Mission-Urban (SBM-U) @

((il)loose the correct answer : [ |

D, A, B,C (2) B,D,A,C 3

2GS (525068 55 808 DT ¢S E3{eloTATe) @w?g:r;‘g:c? A
A 8E2008 580w, 8BDRO® BEI0 (BEEP)

B. ?‘écﬁa [P0ED BSS'FE DAS (NRLM)

C. 23036 sr6re> e A6y6 IBPM SVANian ) >
D, 855) 2768 28.85-586 (SBM-U).- s 0\ o>

OB DITETTR) 0D BA0Sw -

AT D,A,B,C
, @ B
) B,D,A,C 6 c,D,AB %BACD

(42) ORTQ

(4) B,A,C,D
BT OGO €053 3o : s




128. Which of the following

T e ek ] L o S et e

o A RSBTSRBTS i Vi e T

: are i : : . : .
sustainable development 7 recognized as engines under PM Gati Shakti for economic growth and

. Logistics infrastructure
. Housing

A

B

C. Airports
D. Railways

E. Waterways

Choose the correct answer :
(1) B,Cand D only

(3) A,B,C,Dand E

(2) A, B and E only
(4) A,C,D andE only

08 9@ JBAM PSS DI F16 HA0 B 58 805, 806 TES: DD ROESEVT HOOSDATOD ?

H9538€)eS (housing) @
DTS <
S gen ]
E. ¢ AT (waterways) ‘ 1
0BS DATETTRV) JoBE Wk o
(1) B, C 58050 D S
3) A,B,C,D N8 E

O awpP

B QRF ) F°OK QA ASTen (logistié!s'}i‘hfrastructuré)

(2) A, B O0SW E S35
(4) A, C,D 03w E Sr(¢had

129. As per NITI Aayog’s report on ‘multidimensional poverty in India since 2005-2006’, which of the
following states showed fastest decline in the number of multidimensional poor ?

Uttar Pradesh e

Odisha ,
Madhya Pradesh g}
Bihar o
Choose the correct answer :

(1) A, D and E only

(3) B, C and D only

WO QwPk

Rajasthan , d

(2) A, B, CandE only
(4) A,B,Dand E only

50 esa3rR 30 2TOSTE a)ZJ'D&bé.Q& DABE0 AIOE 2005-20068' (D760, 808 Trees O
SHXOSTHS HIVDBOH DO SHOOD ESDSTaN 7

AL &S (DT3B e
B. o230 '
C. 2.4 ¢
B 3065 DB []
S AEAN ] =
3BS HITEED), HOHE TOWID:

(1) A, D 55605 E Srésad

3) B, C 00w D SIS~

[&]

(2) A, B, C 58050 E Sriehad
(4) A, B,D 03 E AU

(43 ) R




130. Match the following phases of growth rates of India’s population 'with their respective periods :
Phase of growth rate of India’s population Period 1
A. High growth with definite signs of slowing down 1. 1901 — 192
B. Rapid high growth II. 1921 -1951
C. Stagnant population III. 1951 -1981
D. Steady growth IV. 1981 -2011
Choose the correct answer :

(1) A-IV; B-III; C-I; D-II (2) A-III; B-IV; C-I; D-II
(3) A-IV; B-II; C-I; D-III (4) A-IV; B-I; C-III; D-II
ESTE 27 Sy Bew Ty 808 SFo ¢ S00HS eI 235GV
IrSSTH BT 3@ Tév SF o 50
A 20BM0T pOISDS SoSTos 0OE SO BES L 19011921
B. JHS0S DS 398 ~" II.  1921-1951
C. QRS By <} L 1951 - 1981
D. VDS 390 /4 IV, 1981-2011
QBN AIPEFT V), DOTVE AW : '_f
(1) A-IV; B-III; C-I; D-II (2) ;};&;III; B-1V; C-I; D-II
(3) A-IV; B-II; C-I; D-III (4) +<A-IV; B-I; C-1II; D-II
131. Which of the following statements is/are correct with regard to Human Development Index (HDI) of
India ?

A. India’s HDI value decreased in 2022 after an increase in 2021.
B. India was placed at 134 in HDI rank out of 193 countries in 2022 as per 2023/24 Human
Development Report (HDR). o~

-

Choose the correct answer : (a)
(1) Both A and B (2) <Neither A nor B
(3) B only (4) Ajonly

4
ST Srdas @DI9H KOS (HDI) & 020800 80 550’ DA/DY ABIE/DBID ?
A 2rOSTEY S D39O KrOE Dens 2021 & OAS S5 2022 ° SN0,

o

B. 2023724 &r3S ©Dd9® 0% (HDR) (9560, 2025 193 BrersS' 2rO8ST$0 HDI orgody

TS0 0.
OB ASFETER), JoDE TS :
(1) A 80k B Bodsyr (2) A DB B Bodky SO\ )
(3) B Sr(¢vH : 4) AJredD

132. Which of the following statements is/are correct ?

A. Indi ‘ ; ; S8 |
ndia has the demogrgjn&afvantage to produc_‘g\.h’and supply educated and skilled manpower,

B. India has the largest écientific hnd technical mai'fp"ower in the world in 2024
Choose the correct answer ©—— Ry . R ‘a

(1) B Only (2) ‘:
, A only (3) Neith
508 > msed 5859 QBIB/D ? (] tther AnorB (4) Both A and B

A 28810 Doy
. $D0BOD, FY250 EORS N v v
COTETRY’ demographic advantage) $OR go@, %{"-%S‘Q T8I S0 DD Faparag Ly

4
4

(0% &
D e T 2058 Ty PO i8S 380 500 oo
S
(2 >
E s @ A$8wBBotr s () A 805 B Body
' (44) E4E




134.

135.

Lo aTr)
, DR
:IR (45)

Office (NSSO) in Ir::;liI;g-, concepts of unemployment are developed by the National Sample Survey
A. Usual st '
G Current :vt::l:]l;e?rtﬂoyment B. Current monthly status unemployment
. status i
Choose the correct answer fmempIOymcnt D FORTEHCHALy s(Etis dnsaplopnink
(1) A, B and C only ( (2) A, B,Cand D
(3) A,Cand D only “(4) B’ C,and D only
TESTIOS'D BASS 7o 507 8¢

0S $B 5 esHD (NSSO) &s0”, 8o DEIEsH arS5OES DD eSO TOHDF O ?
A TOD row dvenes T /B 008 Soorb yan dOERS

C. QS QD AKE A O e u
BT ‘DO 8 SHB5hes
QBN AITTTR), DODY TS - N DN Fe 53786 Frow ABE5AES

(1) A, B 0050 C Sr(es “@) A,B,C 580 D
(3) f\,c;saeoﬁnnér@:& “(4) B, C B0 D Sr(esH
Which of the following statements are correct with regard to the Scheme for Providing Self-

Employment to Educated Unemployed Youth (SEEUY) ?

A &héS§Cheme was originally introduced in Maharashtra as Employment Guarantee Scheme

B. It was introduced by the Government of India in 1986.
C. Its aim was to encourage the educated _unemployed youth to undertake self-employment

~

ventures in industry, service and business® -

D. The educated youth should be in the age gr'oup of 18 — 35 years.

Choose the correct answer : 28
(1) C and D only <(2) AandD only
(3) B, C and D only ' +(4) A, Band C only

BE509ESY DDESH AISKH DO &G $90F HeE0 (SEEUY) $ 020600 806 Fsmsess’
A 0SS BAJ HIFTRS” &E5K TV J&%o (EGS) ™ 1535 247,

1986 &5° A 2755 (DENS S0 (HIFDE0H. |
D550 BS ADESH ANISD DBFS, D HOAN T§rEoS’ H30H0 SJG JosEH SIher
|68 137050 O &TI0. '
D. DEsS0SBS O5nSes 18 00G 35 2F J¢)s owd.

B.
C.

1B HITTER), JODE O : |
Z‘i?‘i 3558050 D Sr(esad (2) A BN D ST(e5sH
(3) B, C 50050 D S5 _(4) A, B8 C Sr(essd

As per National Family Health Survey-5 (2019-21), arrange the following states in descending
dé)r in terms of neo-natal mortality rates : " ) :
Z.r B"h r “B. Jharkhand

. Biha
C. Madhya Pradesh - «D. Telangana
E. Uttar Pradesh .

t answer :
(Cll)mgsihg 5> @ AEGDB |(® ACGEBD @ EABD,C

S0% Soewon by S05-5 (2019-21) DSE0-SSered BH ST BE S9ars & (§0O T lareed
a‘ . £5°3 i
0SB ET (E0E" €958 :

B. &rgob
A DB
C. sﬁx;ﬁ,s@gg D. Boores
E. &S0 D .
v % HSPCETR) DODE TAED |
TR 20 AECDB (3 ACEBD (4) E,A,B,D,C

(1) E,A,C,B,D




. : th t?
136. Which of the following is/are correct with regard to economic grow th and developmen : longer
: . : onger.
A. Economic growth and economic development are not considered as identical concepts any long

. i i i structural advancements.
B. Economic development is the summation of economic growth and stru

Choose the correct answer :

(1) Neither A nor B \ {£2) Both A and B

(3) Aonly o x (4) Bonly

08 390 B TS5BS 5020500 806 TS’ DB/AD HJIE/D?

A &0 390 B0 efsDIHQ DR 28 GBS ardent HOMI0DDE;
B 805050 0058 08 $90 S8k JoEres s HEHS GwEy dosedo.

AT DIAFETER), DOTDE AW . '\ ]
(1) A OO B BOAY 5o | @ ANBa»B Bochr
(3) A Sr(&D o4) B Srlesd

137. Which of the following are key dimensions of Haman Development Index ?
A. Ability to lead a long and healthy life.
B. Ability to achieve a decent standard of living.
C. Ability to settle in high income areas such as urban centres.
D. Ability to acquire knowledge.

Choose the correct answer : ;;i-? »
(1) A and B only ©(2) A,B,CandD
(38) C and D only ©i(4) A, Band D only

808 B’ SrSTHHH JDE Ty, o5 EH S @DHIW) DD 2
A OIS 2O eEHESDS 2De) ﬁé:ar‘jo P50, —

B. 00 B (DSreT) Ar&otdte redso. }«{ :

C. ©&ferrad (@Frozds H&Yn SomTod ?gé‘éc%) F¢s0.

D. S S0P roPso. v

.
et

QB DIFTTR), DODE TSV : ’
(1) A SB8aiw B Sr(edsh (2) A,B, C 8% D
(3) C B D (s 4y A BB D AL

138. Which of the following human development composite indices is
Development Report (HDR) 2023/2024 of United :
(1) Multidimensional Poverty Index (MPI) %
(2) Gender Development Index (GDI) &)

(3) Planetary Pressureg adi )
s-adjusted Human Develo ment Ind
(4) Happiness Index (HI) &P ndex (PHDI)

. not included in the Human
Nations Development Programme (UNDP) ?

1) 23Z0M& a8, DEBE JrDE

@) Dok ef (Multidimcnsional;"PQverty Index (MPI)) .

08 ArdK (Gender Development Index (GDI)) +

@) 150 2,8¢,-x . 2
Index (Pﬁm{f VPren B 87 ©DSIR KrDS (b1

h anetary Pressures-adjusted Human Development
) NOEY X : |
ol AT (Happiness Index (H D)

(46) okD)



139. Which of the following socia) j

140.

141.

142,

— T b s e e o R o aATE AT -

ndicators for basic needs have been used by Hicks and Streeten for
ent ?

B.  Health C. 5%

measuring economic developm
A. Education

R siiitats . s E. Water supply
Choose the correct answer : ‘/3) e B q | N
(1) A, C and E only °©  (9) ABCDandE ‘

(3) B and D only <" 4 AB,CandE only

PODE 23000 0, 1806 s trose 3 2 296y SB35
DS &OTrAose 7 8 : 228 wxbggpe? SRTDIYHHV FoI8 (§od ¢3S’ S¢3 D

A DASg B.  e8%s0 C. '[;;‘Oéh(.ﬁso D. DS B 283630
DB DITTTR) DoDE Fakn - &

(1) A, C 580 E S|
(3) B 30805 D S5

Which of the followin
product in 2021-22 a

(2) A,B,C,D 80w E
(#r A, B, C 00w E &5

g two states were ranked at the top in terms of per capita net state domestic
t current prices (with base year 2011-12) ?

A. Sikkim B. Delhi C. Goa D. Gujarat E. Telangana
Choose the correct answer : 0
(1) B and C only By

@ (2 AandConly
(3) D and E only 2 (4) AandD only

« (78] . »
& 1508  Doch TriFren, 2021-22 & (DS 8OS’ BLHOSHAS SOH0 LS TR TIH &e$HAS'
(58 H0SS B0 2011-12) e FTS0S &SID ? At

A. o B. &9 c. &F D. ®Hxo& E. S8oore
DB DIFETTR) JODE TASW : ] :

(1) B DO C S(edadd o (2) A0 C Srledsd

3 D B E S8 @) A X85 D I

Which of the following are the common characteristics of developing countries like India ?
A. Low real per capita income B. Scarcity of capital

C. Low incidence of poverty D. High levels of unemployment

E. More income inequalities
Choose the correct answer :
(1) B, C and D only .= (2) A,B,DandE only

(3) A,B,C,D and E %, (@ A CandEonly

8068 76365, 2rBSTF0 H0¢3 @DSHP Boéogéé; BroS &ol Fdn ofsren O ?

&

A S$B0)S TS 0B TP aDO - l B. Srods §oeh

C. S80S DEOSIE @AY} L D e6s AN e Paves

E. 6% arrod odsrdsen {\;J

3B DIFETR), DODE Tos0AW (;5

(1) B, C S»8050 D S(€5e & (27 A,B,DHOSME Sr(ehsd

(3) A,B,C,D 0 E 4) A, C OO E-Sr(ehad .
Who among the following economists is involved in the construction of ‘Human Development Index’ ?
(1) Abhijit Banerjee (2) Mahboob-Ul-Haq

(3) Joseph Stiglitz (4) Jean Dreéze

108 8% IS’ DG ‘S8 ©DHH DY’ ErdEe )NES JenDHOTHHTYE ?

1) eDBS B ©2) Srard-esd-s

(3) £OD K @) A3 &6F

B
R | (47) DR




143.

Is (MDGs) ?
— elopment Goals (MDGs) ?
Which of the following statements is/are correct about Mlll_gfimuplp—qy——’}.) :
A. MDGs have 8 development goals.
B. MDGs consist of 40 indicators.
Choose the correct answer : 4 4) Both A and B
(1) B only 2) Aonly (3) Neither A nor 336@;; g
& 1800 550, DOJIAHO ©ESHA oFsed (MDGS) H00HOW PO
(=]

A. MDG o0 8 @93 oo ¥OA saryow. o

B. MDG &Y 40 Q¥ SO &) ow. 5’3

N N DONE TASVXW hr

:?iiitg & 2) A Sy (3)\?;\ 2yBa5 B BOGT 5% (4>' & ‘md‘.” B 200
144. Arrange the .following educational schemes of Ind ) Government in.chronologlcal order :

A. PMe-VIDYA B.*'Skill India Mission

C. Unnat Bharat Abhiyan D.o» NIPUN Bharat Mission

Choose the correct answer :

(1) C,D,A,B (2) A,B,D,C 3) C,B,A,D 4) A,C,B,D

508 2788 (02053 s HETOD 50 SSrSOGO 9oy )50 :

A D0 2-DSg - B. IS S DAS

C. &A)S 23S ©0ASrS D. QIS (NIPUN) 28 QA®

DB AIFETaR) JODE BAWEW : .

(1) C,D,A,B (2) A,B,D,C 3)47IC, B,A, D (4) A,C,B,D
145. Which of the following statements regarding the n?am objectives behind conducting Socio-Economic

and Caste Census 2011 are correct ? ¢

A. To enable ranking of households based on theirﬁocio-économic status.

. . : A\,
B. To make available authentic information on czTitle-wise population enumeration.

C. To make available authentic information regarding socio-economic condition and educational
status of various castes and sections of population.,

D. To make available authentic information on domestic workers,

Choose the correct answer :

(1) A, B and C only ‘ (2) A, Band D only

(3) A, C and D only : 4) B,CandD only

Tre28-e30% SHBAM Foe K 2011 DSOS “

DD DB ? S q° a%\&é ! @S oF % Q020500 §od 6.

A TIrBE-e08 DB eSO HtnoroH ésééé%?asomo_
B Here-a8 277 Ko [(FSrsERd K);iya»cﬁ’g‘i\

@ocﬁaﬁméﬁ&
ST SHerey HOA 2T IO FXBL 0By . o
@02’ GOS0, ' (- T 08 VB0 @srdy dsrardo”

D: ol 502800 (rareds Drerdo @0herend Bhueso,
OB SITFErarR) JoDE Towdw : 0%
(1) A, B DO C Sw(ebad

)
tH A B NS
48) A, C 55805 D Sr{H O D e85,

4 B, 330@03)) D :33‘@33)

(48) Ry




146. Under the ‘Nai Roshni Scheme’, which of the following are covered in the training module ?

A. Swachh Bharat B. Life skills
C. Financial literacy

E. Health and hygiene
Chose the correct answer :

D. Old age pension

(1) B, C and D only (2) A,B,C and E only
(3) A,B,C,Dand E (4) A,BandE only
'S0 NS HOF0’ BEE IrdrsS S, 80O 73S DD TEY2ATOW ?

AT D55 78S BT 285 BHergew
C. DS eioTdsed D DFTHs otdd

B esBi50 B0k H8H(E5e -
$DRS DIFTERY, JoDE Fokosw o
& B, C B0 D S(eh3d ) A, B, C 8050 E Srelehad
(3) A, B,C,D &85 E (4) A, B D85 E Sr(ebad

147. Which of the following statements about the~ !mted Nations Development Programme’s (UNDP’s)

148.

Gender Social Norms Index (GSNT’s) 2023 1s/are correct ?
A. Tt quantifies biases against women and tramgender persons.

B. It captures people’s attitudes on women’s roles along four key dimensions : pohtlcal educational,
economic and physical integrity.

Choose the correct answer :

(1) Bonly (2) A only

(3) Neither Anor B <'(4) Both A and B

208507235 DB D@ G50 (UNDP) B3y é')o(i A28 Q08O Ard¥ (GSNI) 2023 HO0W, (Sod
a",gzn,goé‘ JBIO DO/ ? ],

A 3O N OO SHOIK® (ErSIBoSY) oo "DE e BEHLN0O.

B ad o°80%, DS e8F DO 2TV (oébu:ﬁé oI T’ fof Frd HTFo J(SoD (DB

22758 DOHTFN0. N
DB DAFETR), DoDE TAswE : =
(1) B ST @) ASTSD
(3) A OO B BO&T 5% (4) A DB B Boky

In 2022-23 Union Budget, the proposed allocation for Housing for All under PM Awas Yojana was

-around :

(1) T 48 thousand crores for 80 lakh houses
(2) T 52 thousand crores for 60 lakh houses
(3) T 28 thousand crores for 30 lakh houses

(4) T 36 thousand crores for 70 lakh houses ;

2022-23 30l& 2BES, (DTS Ho@ e &resé D¥o 8o @088 @90) (Housing for Al
€00B0TOLDE DB TEIrONOD) ST 1| [l

(1) 48 o § Eraradhen 80 oF o [F) T8% o

(2) 52 o §& ErarcHen 60 ©f e [y §8& 7

(3) 28 T F&L drarohHen 30 oo 3% TS

(4) 36 I &' EraroHen 70 ©F 0 B FEH

EYE

(49) BN




t 2023-24 fo
Which of the following statements are correct as per the I;I_l_l-n'uig_Development Repor r

149.

the year 2022 ?

A. India ranks 108fh position in gender inequality index. .

B. In terms of gé;ier inequality index, India lags behind Bhutan, South Africa and China.

C. Female labour force participation rate in India remains lower than Nepal.

D. Reproductive health, empowerment and labour market are the three dimensions of gender
inequality index.

Choose the correct answer :

(1) A, Band D only

(2) A, B and C only

(3) A, Cand D only

(4) B, C and D only =

S @DIYP AIOE 2023-24 |D5°S0, 2022 K)oéé:}c‘aé 2020800 (80O 0SS D DB ?

A DOl ©0I7GS (rOIS rESTH0 108 S FSOS' €06,

B D0 @38rds (rdie (H560, rESTI0 E&s}ws, $86 S5 HOAN BT Broicr) Icosdd
&od. -

L. rOSTH0 Ty (R 15 38 i sosog Bew FNS ) BHSS 0.

D. IS es850, TOSES 00K (F0E S782¢5 051D Aot ed8TSS SrDEDES' Surch Fegren.

DB DATETT R, JODE TAWEM

(1) A, B 80 D Sr(¢bad

(2) A, B 80 C S =2

(3) A, CHBA D Sr(ehDH &N

(4> B, C 005 D Sr(esad ol

1 .
150. As per the New Labour Code, which of the foll(,\);k!zmg,statements related to the Occupational Safety,

Health and Working Conditions Code 2020 is/are icorrect ? : .

A. Under ‘One Nation — One Ration Card’, anljigfter-state migrant worker gets ration facility in the
:(t;fgehe works and the remaining family members get ration facility in the state where they

B. It is mandatory for the employers to provide annual health check-up of the workers.

Choose the correct answer :

(1) B only (2) Aonly

(3) Neither A nor B {4 BothAand B
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B. ?Qi?a%m SDIVBT S &S DY 3015”‘7”@ FDOROH @85 H8Y  (health check-up)
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